

TABLE OF CONTENTS

MAEDIA INCORMATION
MEDIA INFORMATION
Dream Staff Directory
Dream Roster4
Playoff Preview5
Transactions & Standings 6
2010 Semifinal Schedule 7
General Media Information 8-9
TEAM STAFF
Marynell Meadors 10
Carol Ross 11
Fred Williams11
Sue Panek
Kim Moseley 12
Kill Woseley12
PLAYERS
Alison Bales 14-15
Iziane Castro Marques 16-17
Erika de Souza 18-19
Shalee Lehning 20-21
Yelena Leuchanka 22-23
Sancho Lyttle 24-25
Angel McCoughtry 26-27
Coco Miller 28-29
Kelly Miller 30-31
Armintie Price 32-33
Brittainey Raven 34-35
STATISTICS.
STATISTICS
Dream 2009 Playoffs in Review 36-3
2010 Regular Season Stats3
Eastern Conference Series Breakdown 39-41
Dream Season Highs
Dream Highs/Lows
Dream Miscellaneous Stats 44

2010 FRONT OFFICE DIRECTORY

225 Peachtree Street NE Suite 2400 Atlanta, GA 30303 Tel: 1-877-977-7729

FAX: 678-510-7489

BUSINESS OPERATIONS OwnerKathy Betty	Assistant Coach Carol Ross Athletic Trainer Kim Moseley
President/COO Toby Wyman Executive Assistant to Owner Ginger Sanford Business Operations Manager Ambree Stancil	Team Physician(s)Brandon Mines, John Xerogeanes
Dir. of Sponsorship Sales and Svc Beth Kelley	EVENTS AND ENTERTAINMENT
Executive Assistant Tommy Francis	Dir. of Game Entertainment & Ops Sarah Davis
	Dance Team Coordinator Brandi Nunnally Mascot Coordinator Jeremy Legg
MEDIA AND COMMUNITY RELATIONS	Public Address AnnouncerVince Bailey
Director of Media RelationsTonya Alleyne	
Public & Comm. Relations ManagerSprague Paynter	TICKET SALES & SERVICE
TV Play-by-Play Bob Rathbun	Director of Ticket Sales and Service Bobby Phillips
TV Analysts LaChina Robinson	Ticket Operations Executive Jon Thomas
Team Photographer Scott Cunningham	Louviere
	Senior Account Executive Eric Schirmer
BASKETBALL OPERATIONS	Account Executive Natalie White
General Manager/Head CoachMarynell Meadors	Account Exec./Club 13 Coord Shenika Worthy
Director of Basketball Operations Sue Panek	Account Executive Lauren Brooks
Executive Dir. Of Player Development & Advanced	
Scouting Fred Williams	

2010 ATLANTA DREAM ROSTER

#	Player	Pos.	Ht.	Wt.	Birth Date	Exp	<u>College</u>
0	Brittainey Raven	G	6-0	160	08/01/88	R	Texas '10
2	Kelly Miller	G	5-10	140	09/06/78	9	Georgia '01
5	Shalee Lehning	G	5-9	140	10/27/86	1	Kansas State '09
8	Iziane Castro Marques	G	6-0	140	03/13/82	7	Brazil
9	Coco Miller	G	5-9	140	09/06/78	9	Georgia '01
11	Yelena Leuchanka	С	6-5	195	04/30/83	2	West Virginia '06
14	Erika de Souza	F/C	6-5	190	03/03/82	4	Brazil
20	Sancho Lyttle	F	6-4	175	09/20/83	5	Houston '05
22	Armintie Price	G-F	5-9	133	04/03/85	3	Mississippi '07
33	Alison Bales	С	6-7	218	04/04/85	2	Duke '07
35	Angel McCoughtry	G/F	6-1	160	09/10/86	1	Louisville '09

Head Coach: Marynell Meadors (Middle Tennessee State)

Assistant Coach: Carol Ross (University of Mississippi)

Executive Director of Player

Development and Advanced Scouting:Fred Williams (Boise State University)Director of Basketball Operations:Sue Panek (University of Maryland)Athletic Trainer:Kim Moseley (Southern Mississippi)



2010 DREAM PLAYOFF PREVIEW

The Dream finished the regular season with a 19-15 record, slipping to the No. 4 seed in the Eastern Conference after a quick start. The Dream will face the red-hot Washington Mystics (22-12) in the Eastern Conference Semifinals. Washington won their final six regular season games to clinch the No. 1 seed in the East. The Mystics won the regular season series 3-1 over the Dream, winning twice in Atlanta and once in Washington. The Dream's only win came at the Verizon Center on June 5.

The Dream has been focused on the playoffs all season and was in first place through most of the first two months of the season. Atlanta struggle after All-Star break and dropped six of their last seven games to close out the regular season. The Dream's strength has been its transition offense and points in the paint. The Dream ranks second in the league in scoring (85.38 ppg) and is 12-2 in games where they top 90 points. With playoff games promising to be physical and down to the wire, the Dream will have to improve on free throw percentage (last in the league at 70.9%) and three-point percentage (last in the league at 28.9%).

Sophomore sensation and last year's Rookie of the Year Angel McCoughtry leads the Dream in scoring with an average of 21.1 ppg, including five 30+ point showings. McCoughtry finished the regular season as the third-leading scorer in the league, behind Diana Taurasi and Cappie Pondexter. Her backcourt partner, Iziane Castro Marques averages 16.9 ppg. Atlanta's inside presence has been bolstered all year by Erika de Souza (12.4 ppg, 8.30 rpg) and Sancho Lyttle (12.8 ppg, 9.9 rpg). Rounding out the starting five is Shalee Lehning, who dishes 4.8 assists per game.

Last season, the Dream entered the postseason the No. 2 seed and were swept in two games by the defending champions, the No. 3 seed Detroit Shock. Atlanta played the second game without its second-highest scorer Chamique Holdsclaw (sore right knee) and both games without Shalee Lehning (left shoulder surgery).

2010 TRANSACTIONS & FINAL STANDINGS

- May 19 Waived Chamique Holdsclaw and signed Yelena Leuchanka.
- May 14 Waived Chanel Mokango and Demetress Adams.
- May 10 Waived Brigitte Ardossi and Erica White
- May 5 Waived Brittany Miller
- May 2 Waived Chandi Jones and Tatum Brown
- April 26, 2010: Released Jennifer Lacy.
- March 22, 2010: Waived Ivory Latta.
- ➤ March 17, 2010: Signed free agent Kelly Miller and re-signed Coco Miller.
- March 16, 2010: Re-signed Erika de Souza.
- March 11, 2010: Traded Michelle Snow to the San Antonio Silver Stars for Dalma Ivanyi and the right to swap second round picks in the 2011 WNBA Draft.
- ➤ March 10, 2010: Signed Demetress Adams to a training camp contract.
- February 25, 2010: Signed Ivory Latta and Erica White to training camp contracts.
- February 4, 2010: Signed Yelena Leuchanka.

		201	0 REGU	LAR SI	EASON C	ONFERE	NCE STA	NDING	S		
	W	L	PCT	GB	CONF	HOME	ROAD	L 10	STREAK		
Washington ^{1e}	22	12	0.647	0.0	13-9	13-4	9-8	8-2	W 6		
New York ^{2x}	22	12	0.647	0.0	14-8	13-4	9-8	9-1	W 1		
Indiana ^{3x}	21	13	0.618	1.0	13-9	12-5	9-8	5-5	L 3		
Atlanta ^{4x}	19	15	0.559	3.0	10-12	10-7	9-8	4-6	L 2		
Connecticut°	17	17	0.500	5.0	9-13	12-5	5-12	4-6	L 1		
Chicago°	14	20	0.412	8.0	7-15	7-10	7-10	2-8	L 2		
	•			•	•	•	•	•			
	W	L	PCT	GB	CONF	HOME	ROAD	L 10	STREAK		
Seattle ^{1w}	28	6	0.824	0.0	20-2	17-0	11-6	6-4	W 3		
Phoenix ^{2x}	15	19	0.441	13.0	13-9	9-8	6-11	4-6	L 2		
San Antonio ^{3x}	14	20	0.412	14.0	11-11	8-9	6-11	5-5	W 2		
Los Angeles ^{4x}	13	21	0.382	15.0	10-12	8-9	5-12	5-5	L 1		
Minnesota°	13	21	0.382	15.0	8-14	7-10	6-11	5-5	W 1		
Tulsa°	6	28	0.176	22.0	4-18	4-13	2-15	2-8	W 1		

x-Clinched Playoff Berth | e-Clinched Eastern Conference | w-Clinched WesternConference | o-Eliminated from Playoffs contention



2010 WNBA Conference Semifinals Schedule

Western Confe	erence		
Seattle vs. Los Angeles	Local	EDT	Broadcast
Game 1 - Wed August 25 Los Angeles at Seattle	8:00PM	11:00PM	ESPN2
Game 2 - Sat August 28 Seattle at Los Angeles	12:00PM	3:00PM	ESPN2
Game 3 * Tue August 31 Los Angeles at Seattle	7:00PM	10:00PM	NBATV
Phoenix vs. San Antonio			
Game 1 - Thu August 26 San Antonio at Phoenix	6:00PM	9:00PM	ESPN2
Game 2 - Sat August 28 Phoenix at San Antonio	12:00PM	1:00PM	ESPN2
Game 3 * Mon August 30 San Antonio at Phoenix	7:00PM	10:00PM	NBATV
Eastern Confe	rence		
Washington vs. Atlanta			
Game 1 - Wed August 25 Atlanta at Washington	7:00PM	7:00PM	NBATV
Game 2 - Fri August 27 Washington at Atlanta	7:30PM	7:30PM	NBATV
Game 3 * Sun August 29 Atlanta at Washington	4:00PM	4:00PM	NBATV
New York vs. Indiana			
Game 1 - Thu August 26 Indiana at New York	7:00PM	7:00PM	NBATV
Game 2 - Sun August 29 New York at Indiana	8:00PM	8:00PM	ESPN2
Game 3 * Wed Sept. 1 Indiana at New York	7:30PM	7:30PM	NBATV

^{*} If necessary

Additional scheduling information will be furnished as soon as possible consistent with the needs to fulfill league obligations.

As of 8-22-10/8:12PM

2010 WNBA PLAYOFF MEDIA INFORMATION

For media information, credential/interview requests or questions, please contact **Tonya Alleyne** (404.693.5181 or <u>Tonya.Alleyne@atlantadream.net</u>) or **Sprague Paynter** (404.561.0421 or <u>Sprague.Paynter@atlantadream.net</u>) in the Dream Media Relations Department. The fax number is 678.510.7489.

GENERAL INFORMATION

PRACTICE POLICY: Please confirm all practice times and locations with the Dream Media Relations Department prior to attending. Teams practice at the site of the game unless otherwise posted. Please see tentative playoff practice schedules below.

MEDIA CREDENTIALS: All requests should be submitted in writing to the Dream Media Relations Department at least 24 HOURS PRIOR to the game you wish to cover (3 p.m. on Friday for Saturday or Sunday games) via e-mail. NO CREDENTIAL REQUESTS WILL BE HONORED ON GAME DAY. Credentials are issued to accredited members of the media who are on-assignment to cover a specific game. Please confirm all credentials with the Dream Media Relations Department prior to arriving at Philips Arena. Credentials may be picked up at the primary media entrance beginning 2.5 hours prior to game time. Credentials must be worn and visible at all times and are non-transferable.

PHOTOGRAPHERS: Limited space is available for photographers along each baseline, with exact locations to be determined on game day. For the safety of the players and in accordance with league rules, photographers must remain seated at least four feet behind the baseline at all times. Use of a flash is prohibited. ABSOLUTELY NO TRIPODS ALLOWED. Photographers must stay in their designated areas and are asked to be considerate of print media and fans directly in their viewing area.

MEDIA WORKROOM: Media workrooms will open 2.5 hours prior to tipoff. Press room usage is only available to those with a valid Dream media credential. Phone lines, fax service and wireless service are provided free of charge.

PRE AND POST GAME INTERVIEWS: In accordance with the WNBA policy, the Dream's and the visitor's locker rooms will be open to members of the media for 30 minutes ending one hour before the start of the game (e.g., media access will be granted from 5:30-6 p.m. for a 7 p.m. game). Locker rooms are opened to the media after the game following a 10-minute cooling down period and will remain open for 30 minutes. Players and coaches are available for inter-views at those times. Only working members of the press with valid credentials will be admitted to the locker rooms. ABSOLUTELY NO PHOTOGRAPHS OR CELL PHONE USE ALLOWED DURING MEDIA LOCKER ROOM ACCESS PERIOD.

GAME NOTES AND STATISTICS: Pre-game press notes, media guides and line-up sheets will be available in the interview room prior to each game. Game statistics will be distributed to the working media twice during each half, as well as halftime and postgame. Postgame quotes and notes are distributed as quickly as possible following the game.

POSSIBLE PLAYOFF VENUES

PHILIPS ARENA (EASTERN CONFERENCE SEMIFINALS VENUE)

Directions: Going north from the airport on I-75/85, take the World Congress Center/Andrew Young International Blvd. exit. Turn left at the end of the exit onto International. Proceed to Centennial Olympic Park Drive and take a left. At the corner of Marietta Street, take a right. At the second light (Park Avenue West) take a left, cross both sets of railroad tracks under the viaduct (as you go to the right), and follow the signs to Media Parking Lot A. If parking is not available in Lot A, proceed to Media Parking Lot B and you will find additional press parking at that location.

Media Entrance: Follow the same directions to Philips Arena, and the entrance is on Park Avenue West (located on the right) before you get to Media Parking Lot A. The press room is located directly on the right as you enter the media will call entrance area.

GWINNETT ARENA (POTENTIAL WNBA FINALS VENUE)

- Traveling North on I-85: take the Sugarloaf Parkway Exit. Turn right off the exit, go back under the Interstate and cross over Satellite Boulevard. The Center will be on your left.
- Traveling South on I-85: take the Sugarloaf Parkway Exit. Turn right off the exit and you cross over Satellite Boulevard. The Center will be on your left.
- From the Gwinnett Place Mall: take Satellite Boulevard north 2-1/2 miles. The Center is located on your left.

Please park in the Gwinnett Arena staff lot and check in at the media table inside the doors.



MARYNELL MEADORS GENERAL MANAGER/HEAD COACH

Overall Record: 79-93 Record with Atlanta: 41-61 Seasons in League: 8 Seasons with Atlanta: 2

General Manager and Head Coach Marynell Meadors, was awarded the 2009 WNBA Coach of the Year after leading her team to the second best single season turn around in WNBA history. In 2008, the team went 4-30 and after some key off season acquisitions Meadors and her staff recorded a 18-16 regular season record, placed 2nd in the Eastern Conference and made the franchise' first playoff appearance.

Meadors enters her third season as General Manager and Head Coach of the Dream, looking to continue the teams winning ways in 2009. As General Manager of the Dream, Meadors has made some notable acquisitions, including the signings of Georgia standouts Kelly and Coco Miller, six-time WNBA All-Star Chamique Holdsclaw and highly coveted free agent center Michelle Snow.

Prior to joining the Dream, Meadors spent the previous three seasons as an assistant coach for the Washington Mystics. There she helped head coaches Richie Adubato and Tree Rollins to an aggregate record of 50-52, including a playoff appearance in 2006. Meadors aided the Mystics' rapid turnaround in 2007 when the squad narrowly missed the playoffs – they were eliminated on the final day of the season – after an 0-8 start.

Meadors also served as the first General Manager and Head Coach of the now-defunct Charlotte Sting where she led the franchise to the playoffs in each of its first two seasons. She also served as the Sting's director of player and staff personnel. Following her tenure with the Sting, Meadors moved south where she was hired as the director of scouting for the Miami Sol. With the Sol, her responsibilities included advanced scouting of opponents and player evaluations for the WNBA Draft.

Meadors has an extensive background in the women's college game. For two seasons prior to joining the Mystics, she served as an assistant coach for the University of Pittsburgh, focusing her efforts on recruiting, scheduling, scouting, academics and community involvement.

Meadors was a head coach at Florida State and Tennessee Tech for a combined 30 years. At Florida State, she quickly turned the program around from three straight losing seasons prior to her arrival. The apex of her tenure came in 1991 when the Seminoles won the Metro Conference Championship and advanced to second round of the NCAA Tournament where they fell to Western Kentucky. A year earlier, she drove the Seminoles to the NCAA Tournament, though the squad was unable to advance past the opening round. Before heading to Florida State, Meadors earned her stripes at Tennessee Tech where she won more than 300 games as head coach. She was the first head coach of the women's basketball program and in her 20 years at the helm, she posted a school-record .723 winning percentage. During her coaching tenures, she received numerous accolades, including a Ohio Valley Conference (OVC) Coach of the Year award (1984) and she was a two-time Metro Conference Coach of the Year award winner (1990, 1991). While at Tennessee Tech, she steered her Golden Eagles squads to four OVC championships and two Metro Conference titles and became the first major women's college coach to win 350 games at one institution.

Meadors earned both her bachelor's and master's degrees from Middle Tennessee State University.



CAROL ROSS ASSISTANT COACH

Carol Ross enters her second season as an Assistant Coach with the Dream, adding over 20 years of recruiting and collegiate coaching experience, most recently as the head coach of her alma mater, the University of Mississippi.

Ross has a history of turning programs around. She spent her first 12 seasons as head coach at the University of Florida, where she turned the Gators program into a powerhouse in the Southeastern Conference. The winningest coach in University of Florida history (247-121), Ross earned the 1994 SEC Coach of the Year award and was a finalist for the 2001 and 2002 Naismith National Coach of the Year award.

After revitalizing the Florida program, Ross returned to Ole Miss where she led the Rebels to postseason play in each of her four seasons at the helm. Her 2006-07 squad finished with its first 20 win season in over a decade en route to an appearance in the Elite Eight of the NCAA Tournament. Ross was a four-year starter at Ole Miss (1978-81) under Hall of Fame coach Van Chancellor and was inducted into the school's Athletic Hall of Fame in 2001.

In sixteen seasons as a head coach, Ross has coached in 12 NCAA Tournaments and two WNIT's. She has posted 20+ win seasons eight times and earned numerous accolades. Ross has also developed some of the WNBA's best talent, including 2007 Rookie of the Year Armintie Price and Olympian DeLisha Milton-Jones. Other notables she has coached include Merlakia Jones, Muriel Page and Sophia Witherspoon.



FRED WILLIAMS

Executive Director of Player Development & Advanced Scouting

Fred Williams enters his third season with the Dream, bringing more than 20 years of coaching and scouting experience.

Prior to joining the Dream staff, Williams served as the head coach of the San Diego Siege, a National Women's Basketball League (NWBL) team. In 2006, he was named NWBL Coach of the Year and led the Siege to a 15-5 record and a championship appearance. Williams was also the head coach of the Utah Starzz (now the San Antonio Silver Stars). He led the Starzz from a 13-15 season in 1999 to playoff appearances in 2000 and 2001 with 18-14 and 19-13 seasons, respectively. He was also an assistant coach with the Charlotte Sting from 2003 until 2004.

In addition to his WNBA experience, Williams spent 10 years coaching at the University of Southern California (USC) as an assistant coach under Cheryl Miller (1983-1990) and as head coach (1995-1997). During the 1983-84 season, he helped guide USC to a national championship and in 1996-97, he led USC to a 20-9 record and a trip to the NCAA tournament. At USC, Williams worked with past and future WNBA players Cynthia Cooper, Lisa Leslie, Tina Thompson, and Adrian Williams. In addition to his extensive coaching experience, Williams is a skilled recruiter who has brought in such players as Margo Dydek, career block leader; Jennifer Azzi, a former Olympian; and three-time WNBA All-Star Marie Ferdinand-Harris into his programs. He has also served as an advance scout for the NBA's Sacramento Kings and the Utah Jazz. Williams is a graduate of Boise State University.



SUE PANEK DIRECTOR OF BASKETBALL OPERATIONS

Sue Panek enters her third season with the Dream as Director of Basketball Operations.

Prior to joining the Dream, Panek spent the previous seven years as head coach of the girls' basketball team at Olympic High School in Charlotte, North Carolina. She also has experience in the WNBA as an assistant coach with the Charlotte Sting (1997-2001) and as an advanced scout with the Washington Mystics (2005-2006).

Panek began her coaching career at Florida State University, where she was an assistant coach from 1993-1996. She then spent a year as an assistant at her alma mater, the University of Maryland, before accepting an assistant coaching position with the WNBA's Charlotte Sting (the team folded in 2007). As an assistant on the Sting staff for five seasons, Panek's responsibilities included: college scouting, player development, scouting of opponents, coordinating team travel, equipment management, and clinician with the Junior Hornets/Sting Youth Basketball Program.

A member of the Maryland basketball team from 1988-1992, Panek helped the Terrapins to four straight NCAA tournament appearances, including a Final Four berth in 1989 and a trip to the Elite 8 in 1992. During her senior season, the Terrapins held the number one national ranking for four weeks.

Panek graduated with a Bachelor's of Science in Kinesiology from the University of Maryland. A native of Lilly, Pennsylvania, she currently resides in Atlanta.



KIM MOSELEY Head Athletic Trainer

Kim begins her second season with the Dream as Head Athletic Trainer. She received her BS and Master's Degree from the University of Southern Mississippi in 1980 and 1981 respectively. Kim has been an Athletic Trainer for 30 years and is a certified member of the National Athletic Trainers' Association and is licensed in the State of Georgia and Tennessee.

This is Moseley's second stop in the WNBA. She served as the Athletic Trainer for the WNBA Charlotte Sting in 1998 and 1999. In her career, she has been a Head Women's Athletic Trainer at Florida State, Head Athletic Trainer at Trevecca Nazarene University and an Assistant Trainer at Southwest Texas State University, Tulane University and Rice University. A native of Biloxi, MS, Kim presently resides in Franklin, Tennessee with her husband Don, who is an Athletic Trainer for the Tennessee Titans, and her two children, Matthew (17) and Katherine (15).



2010 Atlanta Dream Spotters Chart





#33 Alison Bales



#8 Iziane Castro Marques



#14 Erika de Souza



#5 Shalee Lehning



#11 Yelena Leuchanka



#20 Sancho Lyttle



#35 Angel McCoughtry



#9 Coco Miller



#2 Kelly Miller



#22 Armintie Price



#O Brittainey Raven



Head Coach/GM Marynell Meadors



Assistant Coach Carol Ross



Assistant Coach Fred Williams



Team Ops/Assistant Coach Sue Panek



WNBA TRANSACTIONS: Drafted #9 overall by the Indiana Fever in the 2007 WNBA Draft... Traded to the Atlanta Dream for Kristen Mann on July 4, 2008... Traded to Phoenix Mercury on January 21, 2009 for the 18th pick in the 2009 WNBA Draft... Waived by Phoenix Mercury on June 4, 2009... Signed by the Atlanta Dream to a free agent contract in 2010

PERSONAL: Her full name is Alison Marie Bales...she is daughter of Charles Bales and Dr. Mary McCarthy and has a younger sister, Sarah, and twin brothers, J.D. and J.R...her father played football at TCU from 1965-69 and lettered in 1967-68...her mother is director of trauma services at Miami Valley Hospital in Dayton, Ohio...she was a double-major at Duke, in cultural anthropology and biology...she has possible aspirations of following her mother's footsteps into the field of medicine.

2009 WNBA SEASON: On January 21, 2009 Bales was traded to the Phoenix Mercury for the 18th pick in the 2009 WNBA Draft. Bales was waived by the Phoenix Mercury on June 4, 2009.

2008 WNBA SEASON: Bales averaged 2.6 points per game and 1.6 rebounds per game while playing a season and a half with the Indiana Fever (14 games) and was traded to the Atlanta Dream for Kristen Mann on July 4, 2008. While in Atlanta, Bales played in 17 games, started 9 times and helped the Dream to their first win in franchise history. During the 2008 season with the Dream she averaged 4.8 points and 6.0 rebounds.

2007 WNBA SEASON: In her rookie year, Bales averaged 3.2 points and 2.6 rebounds per game in 17 appearances...she scored a season-high nine points at Seattle, 7/27...she had six points and a season-high eight rebounds, all in the second half, at Chicago, 8/7...all of her points and all but one rebound in that game came in the fourth quarter...she had at least two rebounds in 11 of her 15 appearances...she had a blocked shot in seven of her 17 appearances in 2007.

	SEASON HIGHS	CAREER HIGHS
Points	12 vs. Phoenix 06/29/10	12 vs. Phoenix 06/29/10
Rebounds	12 (2 Times)	12 (2 Times)
Assists	6 vs. Connecticut 07/7/10	6 vs. Connecticut 07/7/10
Steals	3 (3 Times)	4 @ Los Angeles 09/11/08
Blocks	6 vs. Indiana 05/16/10	6 vs. Indiana 05/16/10
Minutes	40 vs. Connecticut 07/7/10	40 vs. Connecticut 07/7/10

2010 SEAS(NC
GAMES	34
STARTS	3
MINUTES	15.6
FG %	0.433
3 PT FG %	0.417
FT %	0.796
REBOUNDS	3.8
ASSISTS	0.8
STEALS	0.7
BLOCKS	1.1
TURNOVERS	0.68
POINTS	3.9

CAREER PLAYOFF AVERAGES

Year	Team	G	GS	MPG	FG%	3P%	FT%	OFF	DEF	RPG	APG	SPG	BPG	то	PF	PPG
2007	IND	4	0	4.3	0.000	0.000	0.000	0.0	0.5	0.5	0.3	0.0	0.0	0.25	0.50	0.0
Career		4	0	4.3	0.000	0.000	0.000	0.0	0.5	0.5	0.3	0.0	0.0	0.25	0.50	0.0

#33 Alison Bales 2010 Regular Season Game-by-Game Statistics

							3-POINT					REBO	UNDS						
DATE	VISITOR	HOME	GP-GS	Min	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
05/15/2010	Dream	Silver Stars	1-0	15:57	0-1	0.000	0-0	0.000	1-2	0.500	2	3	5/5.0	1	2-0	1	1	0	1/1.0
05/16/2010	Fever	Dream	1-0	25:22	3-6	0.500	2-2	1.000	0-0	0.000	0	4	4/4.5	1	2-0	3	1	6	8/4.5
05/21/2010	Sun	Dream	1-0	14:38	1-2	0.500	0-0	0.000	0-0	0.000	1	2	3/4.0	0	1-0	2	1	0	2/3.7
05/23/2010	Dream	Liberty	1-0	27:01	2-3	0.667	1-2	0.500	4-6	0.667	1	9	10/5.5	2	4-0	0	2	3	9/5.0
05/28/2010	Dream	Mercury	1-0	11:51	0-2	0.000	0-0	0.000	2-4	0.500	2	1	3/5.0	0	3-0	1	0	2	2/4.4
05/30/2010	Dream	Sparks	1-0	09:35	2-4	0.500	0-0	0.000	0-0	0.000	1	0	1/4.3	0	1-0	0	0	0	4/4.3
06/01/2010	Dream	Storm	1-0	19:09	1-2	0.500	0-0	0.000	1-1	1.000	1	1	2/4.0	1	1-0	1	1	1	3/4.1
06/04/2010	Sky	Dream	1-0	18:21	1-4	0.250	0-0	0.000	1-2	0.500	0	0	0/3.5	1	4-0	0	1	1	3/4.0
06/05/2010	Dream	Mystics	1-0	10:36	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/3.1	0	2-0	0	1	0	0/3.6
06/11/2010	Dream	Liberty	1-0	09:50	0-2	0.000	0-1	0.000	2-4	0.500	0	2	2/3.0	2	0-0	0	0	1	2/3.4
06/13/2010	Silver Stars	Dream	1-0	22:58	3-5	0.600	0-1	0.000	4-4	1.000	4	4	8/3.5	1	1-0	1	2	2	10/4.0
06/15/2010	Dream	Sky	1-0	08:57	0-2	0.000	0-0	0.000	0-0	0.000	0	0	0/3.2	1	3-0	0	0	1	0/3.7
06/19/2010	Dream	Fever	1-0	08:15	1-1	1.000	0-0	0.000	3-3	1.000	1	1	2/3.1	0	3-0	0	2	1	5/3.8
06/23/2010	Shock	Dream	1-0	11:46	0-2	0.000	0-0	0.000	2-2	1.000	2	2	4/3.1	1	3-0	0	1	2	2/3.6
06/27/2010	Sparks	Dream	1-0	06:40	0-2	0.000	0-0	0.000	0-0	0.000	0	0	0/2.9	1	0-0	0	0	1	0/3.4
06/29/2010	Mercury	Dream	1-0	21:46	6-9	0.667	0-0	0.000	0-0	0.000	2	6	8/3.3	0	0-0	1	1	1	12/3.9
07/01/2010	Lynx	Dream	1-0	15:26	2-3	0.667	1-1	1.000	1-1	1.000	0	6	6/3.4	0	2-0	0	0	0	6/4.1
07/03/2010	Sky	Dream	1-0	17:35	1-2	0.500	1-2	0.500	4-4	1.000	0	2	2/3.3	1	3-0	1	0	1	7/4.2
07/07/2010	Sun	Dream	1-1	39:43	3-6	0.500	0-1	0.000	3-4	0.750	0	10	10/3.7	6	4-0	0	3	3	9/4.5
07/14/2010	Dream	Lynx	1-1	09:52	1-2	0.500	0-0	0.000	2-2	1.000	1	2	3/3.7	0	3-0	0	1	2	4/4.5
07/16/2010	Dream	Fever	1-1	14:57	0-1	0.000	0-0	0.000	0-0	0.000	1	3	4/3.7	1	1-0	1	0	0	0/4.2
07/17/2010	Dream	Sun	1-0	06:17	0-1	0.000	0-0	0.000	0-0	0.000	1	1	2/3.6	0	1-0	0	0	0	0/4.0
07/21/2010	Dream	Mystics	1-0	10:15	0-2	0.000	0-0	0.000	2-2	1.000	1	2	3/3.6	0	2-0	0	0	1	2/4.0
07/25/2010	Liberty	Dream	1-0	03:41	0-1	0.000	0-0	0.000	0-0	0.000	0	0	0/3.4	0	2-0	0	0	0	0/3.8
07/27/2010	Dream	Shock	1-0	21:44	3-6	0.500	0-0	0.000	2-2	1.000	3	9	12/3.8	0	2-0	3	0	3	8/4.0
07/30/2010	Dream	Sun	1-0	22:38	1-4	0.250	0-1	0.000	0-0	0.000	2	1	3/3.7	0	1-0	3	0	2	2/3.9
08/01/2010	Fever	Dream	1-0	12:49	2-3	0.667	0-0	0.000	0-0	0.000	2	5	7/3.9	1	2-0	1	2	0	4/3.9
08/03/2010	Mystics	Dream	1-0	22:22	2-4	0.500	0-0	0.000	1-1	1.000	0	6	6/3.9	2	1-0	0	1	3	5/3.9
08/06/2010	Dream	Fever	1-0	19:24	2-2	1.000	0-0	0.000	2-4	0.500	0	1	1/3.8	1	2-0	2	1	0	6/4.0
08/10/2010	Storm	Dream	1-0	12:31	0-3	0.000	0-0	0.000	0-0	0.000	2	1	3/3.8	1	2-0	1	1	1	0/3.9
08/13/2010	Liberty	Dream	1-0	04:49	0-1	0.000	0-0	0.000	0-0	0.000	0	0	0/3.7	0	0-0	1	0	0	0/3.7
08/14/2010	Dream	Sky	1-0	26:09	3-4	0.750	0-0	0.000	4-4	1.000	2	10	12/3.9	1	2-0	0	0	0	10/3.9
08/17/2010	Sky	Dream	1-0	13:36	0-2	0.000	0-1	0.000	0-0	0.000	0	0	0/3.8	2	1-0	1	0	1	0/3.8
08/22/2010	Mystics	Dream	1-0	12:24	2-3	0.667	0-0	0.000	2-2	1.000	0	2	2/3.8	0	0-0	0	0	0	6/3.9
Player Total			34-3	528:54	42-97	0.433	5-12	0.417	43-54	0.796	32	96	128/3.8	28	61-0	24	23	39	132/3.9



WNBA TRANSACTIONS: Signed by the Miami Sol as a free agent on April 25, 2002 ...Signed by the Phoenix Mercury as a free agent on April 15, 2003 ...Waived by the Mercury on May 19, 2004...Signed by the Seattle Storm as a free agent on April 6, 2005....Acquired by the Atlanta Dream from the Seattle Storm in the 2008 WNBA expansion draft.

PERSONAL: Nickname is Izi... Hobbies include video games, movies and dancing... Would like to run a foundation for

kids in the future... Lists favorite movies as The Lord of the Rings and Harry Potter...

2009 WNBA SEASON: Started 33 of the teams 34 regular season games... Led team in scoring averaging 14.4 points, 2.2 rebounds and 2.0 assists per game ... Had two 30+ point games in 2009 ... Has the most consecutive career games on anyone on the team (59).

2008 WNBA SEASON: Played in 29 games for the Dream, including 20 starts... Averaged 9.3 points, 2.2 rebounds and 1.8 assists per game...Tied for third leading scorer on the team... Scored in double figures in 15 games... Scored a season-high 24 points against Indiana on July 16.

2007 WNBA SEASON: Started all 34 games for the Storm... Averaged 12.3 points, 2.8 rebounds and 2.8 assists per game... Recorded career-high averages in points and assists... Ranked 21st in the league in scoring... Ranked eighth in the league in three pointers made (60).

2006 WNBA SEASON: Played in 34 games for the Storm, including 26 starts... Averaged 7.2 points, 2.1 rebounds and 1.4 assists per game... Shot a career-high 46.9% from the field...

2005 WNBA SEASON: Played in 33 games for the Storm, including 32 starts... Averaged 8.2 points, 2.9 rebounds and 1.5 assists per game... Scored in double figures nine times and led the team in scoring twice... In the Playoffs: Averaged 5.7 points and 1 rebound per game in three starts.

2003 WNBA SEASON: Appeared in 16 games for the Mercury... Averaged 4.3 points, 0.8 rebounds and 0.6 assists per game... Youngest player in the WNBA.

2002 WNBA SEASON: Appeared in 19 games for the Sol, including her first career start... Averaged 3.5 points, 0.9 rebounds and 0.4 assists per game... Made her WNBA debut on May 28 vs.Minnesota... Missed ten games due to injury (sprained foot).

	SEASON HIGHS	CAREER HIGHS
Points	32 vs. Connecticut 07/7/10	32 vs. Connecticut 07/7/10
Rebounds	4 (6 Times)	9 vs. Minnesota 06/15/05
Assists	8 @ Tulsa 06/23/10	8 @ Tulsa 06/23/10
Steals	4 @ San Antonio 05/15/10	4 (4 Times)
Blocks	2 @ Minnesota 07/14/10	2 @ Minnesota 07/14/10
Minutes	41 @ Washington 06/05/10	43 vs. Minnesota 06/15/05

2010 SEASO	N
GAMES	34
STARTS	34
MINUTES	28.9
FG %	0.444
3 PT FG %	0.295
FT %	0.659
REBOUNDS	1.7
ASSISTS	2.6
STEALS	0.8
BLOCKS	0.1
TURNOVERS	2.79
POINTS	16.9

CAREER PLAYOFF AVERAGES

Year	Team	G	GS	MPG	FG%	3P%	FT%	OFF	DEF	RPG	APG	SPG	BPG	то	PF	PPG
2005	SEA	3	3	28.7	0.333	0.167	1.000	0.0	1.0	1.0	1.3	0.7	0.0	2.67	4.00	5.7
2006	SEA	3	3	29.3	0.389	0.222	0.867	1.0	1.7	2.7	2.7	0.7	0.3	2.00	3.30	9.7
2007	SEA	2	2	25.5	0.400	0.308	0.000	0.0	2.0	2.0	2.0	0.0	0.5	2.00	3.00	10.0
2009	ATL	2	2	25.5	0.500	0.500	0.706	0.5	1.0	1.5	4.5	0.0	0.0	2.00	2.50	16.0
Career		10	10	27.6	0.403	0.306	0.806	0.4	1.4	1.8	2.5	0.4	0.2	2.20	3.30	9.8

#8 Iziane Castro Marques 2010 Regular Season Game-by-Game Statistics

DATE VISITOR HOME GP-GS Min FGM-FGA FG% FGM-FGA FG% FTM-FTA FT% OFF DEF TOT/AVG AST PF-DQ STL TO BLK	5/14.0 18/15.3 13/14.8 8/13.4 24/15.2 6/13.9 18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6
05/15/2010 Dream Silver Stars 1-1 35:04 9-18 0.500 1-4 0.250 4-6 0.667 0 1 1/1.0 3 1-0 4 1 0 05/16/2010 Fever Dream 1-1 17:51 2-9 0.222 0-5 0.000 1-2 0.500 0 0 0.05 0 0-0 0 1 0 </th <th>23/23.0 5/14.0 18/15.3 13/14.8 8/13.4 24/15.2 6/13.9 18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6</th>	23/23.0 5/14.0 18/15.3 13/14.8 8/13.4 24/15.2 6/13.9 18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6
05/15/2010 Dream Stars 1-1 53:04 9-18 0.500 1-4 0.250 4-6 0.667 0 1 171.0 3 1-0 4 1 0.000	5/14.0 18/15.3 13/14.8 8/13.4 24/15.2 6/13.9 18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6
05/21/2010 Sun Dream 1-1 29:25 8-9 0.889 2-2 1.000 0-0 0.000 0 0/0.3 4 1-0 0 5 0 05/23/2010 Dream Liberty 1-1 22:28 4-6 0.667 2-2 1.000 3-4 0.750 0 2 2/0.8 1 1-0 0 2 0 05/28/2010 Dream Mercury 1-1 25:18 4-16 0.250 0-5 0.000 0-0 0.000 0 2 2/1.0 3 3-0 3 1 0 0 0.000 0 1 1/1.0 5 1-0 0 3 0 0 0.000 0 1 1/1.0 5 1-0 0 3 0 0 0.000 0 1 1/1.0 5 1-0 0 3 0 0 0 0 1 1/1.0 1 0 0 0 0<	18/15.3 13/14.8 8/13.4 24/15.2 6/13.9 18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6
05/23/2010 Dream Liberty 1-1 22:28 4-6 0.667 2-2 1.000 3-4 0.750 0 2 2/0.8 1 1-0 0 2 0 05/28/2010 Dream Mercury 1-1 25:18 4-16 0.250 0-5 0.000 0-0 0.000 0 2 2/1.0 3 3-0 3 1 0 05/30/2010 Dream Sparks 1-1 27:39 11-16 0.688 2-6 0.333 0-0 0.000 0 1 1/1.0 5 1-0 0 3 0 0 0.000 0 1 1/1.0 5 1-0 0 3 0 0 0.000 0 1 1/1.0 1 0 0 0 0 0 1 1/1.0 1 0 0 1 1/1.0 1 0 0 1 1/1.0 1 0 0 0 0 0	13/14.8 8/13.4 24/15.2 6/13.9 18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6
05/28/2010 Dream Mercury 1-1 25:18 4-16 0.250 0-5 0.000 0-0 0.000 0 2 2/1.0 3 3-0 3 1 0 05/30/2010 Dream Sparks 1-1 27:39 11-16 0.688 2-6 0.333 0-0 0.000 0 1 1/1.0 5 1-0 0 3 0 06/01/2010 Dream Storm 1-1 23:20 3-9 0.333 0-4 0.000 0-0 0.000 0 1 1/1.0 1 0-0 1 3 0 0 0.000 0 1 1/1.0 1 0-0 1 3 0 0 0 0.000 0 1 1/1.0 1 0-0 1 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	8/13.4 24/15.2 6/13.9 18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6
05/30/2010 Dream Sparks 1-1 27:39 11-16 0.688 2-6 0.333 0-0 0.000 0 1 1/1.0 5 1-0 0 3 0 06/01/2010 Dream Storm 1-1 23:20 3-9 0.333 0-4 0.000 0-0 0.000 0 1 1/1.0 1 0-0 1 3 0 06/04/2010 Sky Dream 1-1 33:24 7-15 0.467 3-5 0.600 1-2 0.500 2 2 4/1.4 5 3-0 1 5 0 0 0.600 1 1/1.0 1 0-0 1 3 0 1 0 0 1 1/1.0 1 0 0 1 1/1.0 1 0 0 1 5 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0 <td< td=""><td>24/15.2 6/13.9 18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6</td></td<>	24/15.2 6/13.9 18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6
06/01/2010 Dream Storm 1-1 23:20 3-9 0.333 0-4 0.000 0-0 0.000 0 1 1/1.0 1 0-0 1 3 0 06/04/2010 Sky Dream 1-1 33:24 7-15 0.467 3-5 0.600 1-2 0.500 2 2 4/1.4 5 3-0 1 5 0 06/05/2010 Dream Mystics 1-1 41:26 8-17 0.471 1-2 0.500 2-2 1.000 1 3 4/1.7 6 1-0 2 6 0 06/11/2010 Dream Liberty 1-1 33:27 5-15 0.333 2-7 0.286 5-5 1.000 0 0/1.5 1 1-0 0 3 0 06/13/2010 Silver Stars Dream 1-1 31:52 5-13 0.385 1-3 0.333 1-2 0.500 0 2 2/1.5 5	6/13.9 18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6
06/04/2010 Sky Dream 1-1 33:24 7-15 0.467 3-5 0.600 1-2 0.500 2 2 4/1.4 5 3-0 1 5 0 06/05/2010 Dream Mystics 1-1 41:26 8-17 0.471 1-2 0.500 2-2 1.000 1 3 4/1.7 6 1-0 2 6 0 06/11/2010 Dream Liberty 1-1 33:27 5-15 0.333 2-7 0.286 5-5 1.000 0 0 0/1.5 1 1-0 0 3 0 06/13/2010 Silver Stars Dream 1-1 31:52 5-13 0.385 1-3 0.333 1-2 0.500 0 2 2/1.5 5 3-0 0 1 0 0 0/1.5 1 1-0 0 3 0 0 0 0 0/1.5 1 1-0 0 0 0 0 0 </td <td>18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6</td>	18/14.4 19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6
06/05/2010 Dream Mystics 1-1 41:26 8-17 0.471 1-2 0.500 2-2 1.000 1 3 4/1.7 6 1-0 2 6 0 06/11/2010 Dream Liberty 1-1 33:27 5-15 0.333 2-7 0.286 5-5 1.000 0 0 0/1.5 1 1-0 0 3 0 06/13/2010 Silver Stars Dream 1-1 31:52 5-13 0.385 1-3 0.333 1-2 0.500 0 2 2/1.5 5 3-0 0 1 0 06/15/2010 Dream Sky 1-1 34:07 10-16 0.625 4-6 0.667 7-11 0.636 1 3 4/1.8 3 1-0 1 3 0 06/19/2010 Dream Fever 1-1 36:54 7-15 0.467 2-6 0.333 5-9 0.556 1 3 4/1.9 3 <td>19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6</td>	19/14.9 17/15.1 12/14.8 31/16.2 21/16.5 18/16.6
06/11/2010 Dream Liberty 1-1 33:27 5-15 0.333 2-7 0.286 5-5 1.000 0 0/1.5 1 1-0 0 3 0 06/13/2010 Silver Stars Dream 1-1 31:52 5-13 0.385 1-3 0.333 1-2 0.500 0 2 2/1.5 5 3-0 0 1 0 06/15/2010 Dream Sky 1-1 34:07 10-16 0.625 4-6 0.667 7-11 0.636 1 3 4/1.8 3 1-0 1 3 0	17/15.1 12/14.8 31/16.2 21/16.5 18/16.6
06/13/2010 Silver Stars Dream 1-1 31:52 5-13 0.385 1-3 0.333 1-2 0.500 0 2 2/1.5 5 3-0 0 1 0 06/15/2010 Dream Sky 1-1 34:07 10-16 0.625 4-6 0.667 7-11 0.636 1 3 4/1.8 3 1-0 1 3 0 0 1 0 1 0 1 0 0 0 2 2/1.5 5 3-0 0 1 0 0 2 2/1.5 5 3-0 0 1 0 0 0 2 2/1.5 5 3-0 0 1 0 0 0 2 2/1.5 5 3-0 0 1 0 0 0 2 2/1.5 5 3-0 0 1 0 1 0 1 0 1 0 1 0 0 0	12/14.8 31/16.2 21/16.5 18/16.6
06/15/2010 Dream Sky 1-1 34:07 10-16 0.625 4-6 0.667 7-11 0.636 1 3 4/1.8 3 1-0 1 3 0 06/19/2010 Dream Fever 1-1 36:54 7-15 0.467 2-6 0.333 5-9 0.556 1 3 4/1.9 3 3-0 0 7 0 06/23/2010 Shock Dream 1-1 30:55 6-21 0.286 3-7 0.429 3-6 0.500 1 0 1/1.9 8 3-0 1 5 0	31/16.2 21/16.5 18/16.6
06/19/2010 Dream Fever 1-1 36:54 7-15 0.467 2-6 0.333 5-9 0.556 1 3 4/1.9 3 3-0 0 7 0 06/23/2010 Shock Dream 1-1 30:55 6-21 0.286 3-7 0.429 3-6 0.500 1 0 1/1.9 8 3-0 1 5 0	21/16.5 18/16.6
06/23/2010 Shock Dream 1-1 30:55 6-21 0.286 3-7 0.429 3-6 0.500 1 0 1/1.9 8 3-0 1 5 (18/16.6
	1
06/27/2010 Sparks Dream 1-1 31:39 6-13 0.462 4-6 0.667 9-18 0.500 2 2 4/2.0 0 2-0 2 2 (25/45/2
	25/17.2
06/29/2010 Mercury Dream 1-1 25:10 3-11 0.273 1-5 0.200 3-4 0.750 0 1 1/1.9 1 0-0 2 6 0	10/16.8
07/01/2010 Lynx Dream 1-1 28:45 9-19 0.474 3-7 0.429 1-1 1.000 1 2 3/2.0 1 2-0 0 3 (22/17.1
07/03/2010 Sky Dream 1-1 34:47 7-19 0.368 0-2 0.000 3-7 0.429 1 2 3/2.1 2 6-1 0 3 (17/17.1
07/07/2010 Sun Dream 1-1 38:22 13-24 0.542 1-8 0.125 5-8 0.625 0 3 3/2.1 7 3-0 1 1 (32/17.8
07/14/2010 Dream Lynx 1-1 31:46 9-22 0.409 1-6 0.167 1-2 0.500 1 1 2/2.1 2 4-0 1 4 2	20/18.0
07/16/2010 Dream Fever 1-1 22:00 2-11 0.182 1-5 0.200 0-0 0.000 0 1 1/2.0 1 3-0 0 2 0	5/17.3
07/17/2010 Dream Sun 1-1 11:44 0-4 0.000 0-1 0.000 0-0 0.000 0 1 1/2.0 5 4-0 0 4	0/16.5
07/21/2010 Dream Mystics 1-1 38:25 4-14 0.286 2-5 0.400 7-8 0.875 0 2 2/2.0 6 3-0 2 5	17/16.6
07/25/2010 Liberty Dream 1-1 31:30 9-16 0.563 0-1 0.000 3-5 0.600 1 0 1/2.0 1 3-0 1 1 0	21/16.8
07/27/2010 Dream Shock 1-1 23:01 8-14 0.571 2-4 0.500 5-6 0.833 0 0 0/1.9 0 1-0 0 1	23/17.0
07/30/2010 Dream Sun 1-1 20:25 7-13 0.538 2-5 0.400 1-2 0.500 0 0 0/1.8 0 3-0 0 3	17/17.0
08/01/2010 Fever Dream 1-1 26:08 10-20 0.500 2-9 0.222 0-1 0.000 1 1 2/1.8 0 2-0 1 1 0.000	22/17.2
08/03/2010 Mystics Dream 1-1 25:14 5-11 0.455 1-7 0.143 3-5 0.600 0 1 1/1.8 0 4-0 0 1	14/17.1
08/06/2010 Dream Fever 1-1 37:47 10-18 0.556 2-5 0.400 6-7 0.857 0 1 1/1.8 3 4-0 3 3 (28/17.4
08/10/2010 Storm Dream 1-1 25:46 5-14 0.357 1-5 0.200 2-2 1.000 1 3 4/1.8 2 1-0 0 0 0	13/17.3
08/13/2010 Liberty Dream 1-1 33:18 6-15 0.400 0-2 0.000 1-1 1.000 0 0 0/1.8 3 2-0 0 2 0	13/17.2
08/14/2010 Dream Sky 1-1 22:33 6-13 0.462 0-2 0.000 3-3 1.000 0 3 3/1.8 2 3-0 0 4 0	15/17.1
08/17/2010 Sky Dream 1-1 24:49 8-15 0.533 0-3 0.000 3-4 0.750 0 0 0/1.8 1 0-0 0 2 (19/17.2
08/22/2010 Mystics Dream 1-1 28:06 4-15 0.267 0-4 0.000 1-2 0.500 0 1 1/1.7 4 1-0 2 1 (9/16.9
Player Total 34-34 984:25 220-496 0.444 46-156 0.295 89-135 0.659 14 45 59/1.7 89 73-1 28 95 2	575/16.9



WNBA TRANSACTIONS: Signed by the Los Angeles Sparks as a free agent on April 27, 2001... Acquired by the Connecticut Sun on February 21, 2007 from the Los Angeles Sparks in a trade... Acquired by the Atlanta Dream from the Connecticut Sun in 2008 WNBA Expansion Draft.

PERSONAL: Born in Rio de Janeiro, Brazil... As a child favored volleyball and handball to basketball but was convinced to pursue basketball due to her height... Hobbies

include movies, swimming and going to the beach... Favorite book is the Bible... Lists favorite movie as Shrek and favorite television show as American Idol... Would like to study psychology and start a foundation in Rio de Janeiro once her basketball career is over.

2009 WNBA SEASON: Selected as a WNBA All-Star for the first time in her career ... Ranked first in WNBA in offensive rebounds (119) and total rebounds (309) ... Ranked second in WNBA in rebounding percentage (9.1)... Started in all 34 games and averaged 11.8 points, and 9.1 rebounds per game.

2008 WNBA SEASON: Missed most of the season with a fractured leg... Played in 12 games for the Dream, including eight starts... Averaged career-highs in points (9.3), rebounds (6.6), assists (0.7), steals (1.4) and blocks (1.8)... Tied for third leading scorer on the team... Averaged team-highs in rebounding, field goal percentage, steals and blocked shots... Shot career-high 58.5% from the field... Recorded a career-high 18 rebounds against Detroit on May 23...Set the team record for single-game rebounds (18)... Recorded first double-double in Dream history in her debut on May 23 (10 points and 18 rebounds).

2007 WNBA SEASON: Appeared in 32 games for the Sun, including two starts... Averaged 4.3 points and 3.0 rebounds in 12.2 minutes per game... Finished second on the team in blocked shots (29)... Scored a career-high 16 points three different games... Recorded a career high five blocked shots against Detroit on July 24.In the Playoffs: Appeared in one game, seeing action for seven minutes against Indiana on August 25.

2002 WNBA SEASON: Played in 11 games for the Sparks... Averaged 1.1 points and 1.3 rebounds per game.

			2010 SEA	SON
	SEASON HIGHS	CAREER HIGHS	GAMES	34
Points	23 @ Washington 06/05/10	27 @ Sacramento 09/04/09	STARTS	34
			MINUTES	25.6
Rebounds	20 @ Minnesota 07/14/10	20 @ Minnesota 07/14/10	FG %	0.571
Assists	3 (2 Times)	3 (10 Times)	3 PT FG %	.000
_			FT %	0.547
Steals	3 @ Indiana 08/6/10	4 (2 Times)	REBOUNDS	8.3
Blocks	5 vs. Tulsa 06/23/10	6 @ Seattle 08/29/09	ASSISTS	0.9
Minutes	24 /2 Timesa)	44 vs. Indiana 00/00/00	STEALS	0.8
iviinutes	34 (2 Times)	44 vs. Indiana 06/06/09	BLOCKS	1.2
			TURNOVERS	1.82
			POINTS	12.4

CAREER PLAYOFF AVERAGES

Year	Team	G	GS	MPG	FG%	3P%	FT%	OFF	DEF	RPG	APG	SPG	BPG	то	PF	PPG
2002	LAS	1	0	3.0	0.000	0.000	0.750	1.0	0.0	1.0	0.0	0.0	0.0	0.00	0.00	3.0
2007	CON	1	0	7.0	0.000	0.000	0.000	0.0	0.0	0.0	1.0	0.0	0.0	0.00	0.00	0.0
2009	ATL	2	2	27.0	0.556	0.000	0.750	2.5	4.5	7.0	1.0	2.0	1.0	5.00	5.00	11.5
Career		4	2	16.0	0.500	0.000	0.750	1.5	2.3	3.8	0.8	1.0	0.5	2.50	2.50	6.5

#14 Erika de Souza 2010 Regular Season Game-by-Game Statistics

							3-POINT					-REBO	UNDS						
DATE	VISITOR	HOME	GP-GS	Min	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
05/15/2010	Dream	Silver	1-1	30:14	5-14	0.357	0-0	0.000	1-2	0.500	7	8	15/15.0	0	2-0	0	4	1	11/11.0
05/16/2010	Fever	Stars	1-1	26.26	7-11	0.636	0-0	0.000	0-0	0.000	-	5	11/13.0	0	4-0	1	6	2	14/12.5
05/16/2010	Sun	Dream	1-1	26:26 23:06	3-7	0.636	0-0	0.000	1-2	0.500	6	3	5/10.3	0	5-0	2	6	0	7/10.7
	Dream		1-1	25:17	7-13	0.429	0-0	0.000	1-2	0.500	4		10/10.3	0	3-0	0	2	3	15/11.8
05/23/2010	Dream	Liberty	1-1	29:11	9-18	0.500	0-0	0.000	2-2	1.000	5	7	12/10.6	1	4-0	1	3	3	20/13.4
05/30/2010	Dream	1	1-1	31:39	7-14	0.500	0-0	0.000	0-2	0.000	5	8	13/11.0	2	2-0	1	1	1	14/13.5
06/01/2010	Dream	Sparks	1-1	17:14	0-2	0.000	0-0	0.000	2-4	0.500	3	1	4/10.0	2	5-0	1	2	0	2/11.9
06/04/2010	Sky	Dream	1-1	27:43	0-2	0.000	0-0	0.000	0-0	0.000	1	6	7/9.6	1	2-0	1	1	0	0/10.4
06/05/2010	Dream	Mystics	1-1	32:51	11-15	0.733	0-0	0.000	1-2	0.500	6	5	11/9.8	1	3-0	1	3	1	23/11.8
06/03/2010	Dream	Liberty	1-1	30:10	9-13	0.733	0-0	0.000	3-8	0.300	4	6	10/9.8	1	4-0	1	1	1	21/12.7
06/13/2010	Silver Stars	Dream	1-1	22:03	3-6	0.500	0-0	0.000	1-2	0.500	0	5	5/9.4	0	2-0	0	4	0	7/12.2
06/15/2010	Dream	Sky	1-1	30:51	8-12	0.300	0-0	0.000	1-2	1.000	3	10	13/9.7	2	3-0	2	1	2	17/12.6
06/13/2010	Dream	Fever	1-1	21:40	3-5	0.600	0-0	0.000	0-0	0.000	3	2	3/9.2	0	1-0	1	0	0	6/12.1
06/23/2010	Shock	Dream	1-1	28:41	9-12	0.750	0-0	0.000	1-1	1.000	2	5	7/9.0	1	5-0	0	2	5	19/12.6
06/27/2010	Sparks	Dream	1-1	11:51	4-6	0.730	0-0	0.000	1-1	0.500	2	2	4/8.7	0	4-0	0	1	0	9/12.3
06/29/2010	Mercury		1-1	11:47	4-5	0.800	0-0	0.000	0-0	0.000	0	2	2/8.3	0	1-0	0	0	0	8/12.1
07/01/2010	Lynx	Dream	1-1	19:00	4-5	0.800	0-0	0.000	3-5	0.600	0	4	4/8.0	0	3-0	0	3	2	11/12.0
07/03/2010	Sky	Dream	1-1	32:37	5-11	0.455	0-0	0.000	3-4	0.750	6	9	15/8.4	1	3-0	0	2	1	13/12.1
07/07/2010	Sun	Dream	1-1	30:30	7-11	0.636	0-0	0.000	3-4	0.750	2	11	13/8.6	2	4-0	0	0	1	17/12.3
07/14/2010	Dream	Lynx	1-1	34:14	9-16	0.563	0-0	0.000	0-0	0.000	6	14	20/9.2	0	4-0	2	4	3	18/12.6
07/16/2010	Dream	Fever	1-1	27:54	6-8	0.750	0-0	0.000	1-2	0.500	3	1	4/9.0	0	3-0	2	1	3	13/12.6
07/17/2010	Dream	Sun	1-1	28:05	7-10	0.700	0-0	0.000	2-2	1.000	3	4	7/8.9	1	5-0	1	0	0	16/12.8
07/21/2010	Dream	Mystics	1-1	25:00	5-10	0.500	0-0	0.000	1-2	0.500	5	1	6/8.7	2	5-0	1	2	2	11/12.7
07/25/2010	Liberty	Dream	1-1	32:51	7-11	0.636	0-0	0.000	0-0	0.000	1	9	10/8.8	2	2-0	1	3	1	14/12.8
07/27/2010	Dream	Shock	1-1	16:13	2-6	0.333	0-0	0.000	0-2	0.000	2	5	7/8.7	0	3-0	1	1	0	4/12.4
07/30/2010	Dream	Sun	1-1	21:20	5-15	0.333	0-0	0.000	3-3	1.000	4	9	13/8.9	3	1-0	0	0	2	13/12.4
08/01/2010	Fever	Dream	1-1	28:47	8-11	0.727	0-0	0.000	0-0	0.000	0	5	5/8.7	2	4-0	2	3	3	16/12.6
08/03/2010	Mystics	Dream	1-1	28:31	4-10	0.400	0-0	0.000	2-4	0.500	2	3	5/8.6	0	2-0	0	4	0	10/12.5
08/06/2010	Dream	Fever	1-1	23:31	5-7	0.714	0-0	0.000	0-0	0.000	1	2	3/8.4	0	5-0	3	0	3	10/12.4
08/10/2010	Storm	Dream	1-1	27:47	5-8	0.625	0-0	0.000	3-6	0.500	3	8	11/8.5	3	3-0	1	1	1	13/12.4
08/13/2010	Liberty	Dream	1-1	34:12	9-14	0.643	0-0	0.000	3-4	0.750	2	9	11/8.6	0	4-0	0	2	1	21/12.7
08/14/2010	Dream	Sky	1-1	24:25	8-10	0.800	0-0	0.000	1-5	0.200	2	5	7/8.5	1	3-0	0	2	0	17/12.8
08/17/2010	Sky	Dream	1-1	19:36	3-6	0.500	0-0	0.000	1-2	0.500	3	2	5/8.4	1	4-0	1	0	0	7/12.6
08/22/2010	Mystics	Dream	1-1	17:08	2-5	0.400	0-0	0.000	0-0	0.000	0	5	5/8.3	0	1-0	0	0	0	4/12.4
Player Total	Į		34-34	872:25	190-333	0.571	0-0	0.000	41-75	0.547	96	187	283/8.3	30	109-0	27	62	40	421/12.
· ·		1	<u> </u>			ll				·					l	1			



WNBA TRANSACTIONS: Drafted by the Atlanta Dream in the second round (25th overall) of the 2009 WNBA Draft.

PERSONAL: Native of Sublette, Kansas... Daughter of Steve and Jane Lehning...Has two older siblings, Andrea and Matt...Brother Matt played football at Garden City Community College and Wyoming... Majored in electronic journalism at Kansas State...

2009 WNBA SEASON: Started 20 of 34 games ... Ranks in the top ten in WNBA in both total assists (127) and assist per game (3.7) ... scored a career high 15 points vs. Connecticut Sun on September 11, 2009 ... Averaged 3.0 points, 2.3 rebounds and 3.7 assists per game in her rookie year.

COLLEGE: Eighth player from Kansas State to make it to the WNBA (sixth to be drafted)... Two-time All-Big 12 first team selection... CoSIDA/ESPN the Magazine Academic All-America third team honors as a senior... Associated Press All-America honorable mention honors as a senior... Lowe's All-Senior All-America first team... Three-time Academic All-Big 12 first team member... Finished career ranked first in school history and second in Big 12 history for career assists with 800... Ranked first in school history for career minutes played with 4,271... Ranked fourth in school history for career rebounds with 914... Ranked 19th for career points with 1,189... First player in Big 12 history to record 1,000 career points, 900 career rebounds and 800 career assists... First player in school history to record consecutive 200 point, 200 rebound and 200 assist seasons... Set a school record for assists in a season (229).

	SEASON HIGHS	CAREER HIGHS
Points	10 (2 Times)	15 vs. Connecticut 09/11/09
Rebounds	7 vs. Connecticut 07/7/10	7 2 Times
Assists	10 vs. Connecticut 05/21/10	10 (3 Times)
Steals	3 vs. Minnesota 07/1/10	3 (3 Times)
Blocks	1 (6 Times)	1 (9 Times)
Minutes	38 vs. Connecticut 07/7/10	38 vs. Connecticut 07/7/10

2010 SEAS	ON
GAMES	33
STARTS	33
MINUTES	23.5
FG %	0.453
3 PT FG %	0.361
FT %	0.467
REBOUNDS	2.7
ASSISTS	4.8
STEALS	0.8
BLOCKS	0.2
TURNOVERS	1.85
POINTS	3.7

#5 Shalee Lehning 2010 Regular Season Game-by-Game Statistics

							3-POINT				_	-BERO	UNDS						
DATE	VISITOR	HOME	GP-GS	Min	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
		Silver									OFF								
05/15/2010	Dream	Stars	1-1	32:08	0-3	0.000	0-1	0.000	0-3	0.000	1	4	5/5.0	6	4-0	2	2	1	0/0.0
05/16/2010	Fever	Dream	1-1	14:41	1-3	0.333	0-0	0.000	0-0	0.000	0	2	2/3.5	1	0-0	0	0	1	2/1.0
05/21/2010	Sun	Dream	1-1	22:10	0-2	0.000	0-1	0.000	0-0	0.000	0	2	2/3.0	10	0-0	2	1	0	0/0.7
05/23/2010	Dream	Liberty	1-1	27:22	2-4	0.500	1-1	1.000	0-0	0.000	0	3	3/3.0	3	2-0	0	3	1	5/1.8
05/28/2010	Dream	Mercury	1-1	22:39	2-3	0.667	1-2	0.500	0-0	0.000	0	1	1/2.6	5	2-0	1	3	0	5/2.4
05/30/2010	Dream	Sparks	1-1	22:49	0-2	0.000	0-1	0.000	0-0	0.000	0	4	4/2.8	5	2-0	0	0	0	0/2.0
06/01/2010	Dream	Storm	1-1	14:59	1-5	0.200	1-2	0.500	1-2	0.500	0	0	0/2.4	2	2-0	1	3	0	4/2.3
06/04/2010	Sky	Dream	1-1	24:29	1-2	0.500	1-1	1.000	2-2	1.000	1	1	2/2.4	6	1-0	0	2	0	5/2.6
06/05/2010	Dream	Mystics	1-1	24:44	1-4	0.250	1-2	0.500	0-2	0.000	2	3	5/2.7	4	3-0	0	2	1	3/2.7
06/11/2010	Dream	Liberty	1-1	14:31	0-2	0.000	0-1	0.000	0-0	0.000	1	1	2/2.6	1	1-0	0	1	0	0/2.4
06/13/2010	Silver Stars	Dream	1-1	34:58	4-5	0.800	2-2	1.000	0-4	0.000	1	2	3/2.6	8	1-0	1	2	0	10/3.1
06/15/2010	Dream	Sky	1-1	29:28	4-4	1.000	1-1	1.000	1-1	1.000	1	1	2/2.6	9	3-0	1	3	0	10/3.7
06/19/2010	Dream	Fever	1-1	25:14	2-4	0.500	1-3	0.333	0-0	0.000	2	1	3/2.6	3	3-0	2	4	1	5/3.8
06/23/2010	Shock	Dream	1-1	15:37	1-3	0.333	0-2	0.000	0-0	0.000	0	0	0/2.4	4	2-0	1	0	0	2/3.6
06/27/2010	Sparks	Dream	1-1	21:26	2-2	1.000	0-0	0.000	0-0	0.000	2	2	4/2.5	5	3-0	2	2	0	4/3.7
06/29/2010	Mercury	Dream	1-1	12:28	0-2	0.000	0-1	0.000	0-0	0.000	0	0	0/2.4	2	1-0	0	0	0	0/3.4
07/01/2010	Lynx	Dream	1-1	20:32	1-3	0.333	0-1	0.000	0-0	0.000	0	1	1/2.3	5	4-0	3	2	0	2/3.4
07/03/2010	Sky	Dream	1-1	22:10	2-4	0.500	0-0	0.000	0-0	0.000	3	0	3/2.3	1	3-0	0	3	0	4/3.4
07/07/2010	Sun	Dream	1-1	38:06	3-8	0.375	1-2	0.500	0-1	0.000	5	2	7/2.6	8	2-0	1	0	0	7/3.6
07/14/2010	Dream	Lynx	1-1	31:59	0-2	0.000	0-1	0.000	2-2	1.000	0	3	3/2.6	6	2-0	0	3	0	2/3.5
07/16/2010	Dream	Fever	1-1	24:60	3-4	0.750	0-0	0.000	0-0	0.000	0	3	3/2.6	3	0-0	2	3	0	6/3.6
07/17/2010	Dream	Sun	1-1	17:55	2-2	1.000	1-1	1.000	0-0	0.000	1	2	3/2.6	4	2-0	2	1	0	5/3.7
07/25/2010	Liberty	Dream	1-1	24:25	2-4	0.500	0-1	0.000	1-2	0.500	1	2	3/2.7	3	0-0	1	0	1	5/3.7
07/27/2010	Dream	Shock	1-1	27:04	3-3	1.000	1-1	1.000	2-2	1.000	0	2	2/2.6	6	4-0	1	4	0	9/4.0
07/30/2010	Dream	Sun	1-1	17:08	2-3	0.667	0-0	0.000	1-1	1.000	0	1	1/2.6	3	0-0	0	0	0	5/4.0
08/01/2010	Fever	Dream	1-1	22:10	0-1	0.000	0-0	0.000	1-2	0.500	2	0	2/2.5	7	3-0	0	2	0	1/3.9
08/03/2010	Mystics	Dream	1-1	23:16	0-3	0.000	0-2	0.000	0-0	0.000	1	0	1/2.5	6	2-0	0	1	0	0/3.7
08/06/2010	Dream	Fever	1-1	29:52	2-3	0.667	0-1	0.000	0-0	0.000	0	3	3/2.5	6	1-0	0	2	0	4/3.8
08/10/2010	Storm	Dream	1-1	24:55	2-6	0.333	0-1	0.000	1-2	0.500	2	1	3/2.5	6	3-0	0	1	0	5/3.8
08/13/2010	Liberty	Dream	1-1	30:03	3-4	0.750	0-0	0.000	1-2	0.500	2	2	4/2.6	8	3-0	0	1	0	7/3.9
08/14/2010	Dream	Sky	1-1	18:35	1-2	0.500	1-2	0.500	0-0	0.000	0	4	4/2.6	4	2-0	0	2	0	3/3.9
08/17/2010	Sky	Dream	1-1	21:04	0-3	0.000	0-2	0.000	0-0	0.000	0	3	3/2.6	4	1-0	1	4	0	0/3.8
08/22/2010	Mystics	Dream	1-1	21:03	1-1	1.000	0-0	0.000	1-2	0.500	0	5	5/2.7	5	6-1	1	4	0	3/3.7
Player Total			33-33	775:00	48-106	0.453	13-36	0.361	14-30	0.467	28	61	89/2.7	159	68-1	25	61	6	123/3.7
		•																	



WNBA TRANSACTIONS: Signed by the Charlotte Sting on April 6, 2006... Selected by the Houston Comets in the 2006 WNBA dispersal draft... Released by the Houston Comets on May 18, 2006... Signed by the Washington Mystics on June 6, 2007... Rights acquired by the Atlanta Dream from the Washington Mystics in the 2008 expansion draft... Signed by Dream on May 19, 2010.

PERSONAL: Daughter of Stepan Zasilezich and Ludmila Pavlovna Leuchanka... Has one brother... Majored in International Studies at West Virginia.

2009 WNBA SEASON: Did not play in the WNBA during the 2009 season.

2008 WNBA SEASON: Leuchanka did not play in the WNBA during the 2008 season.... The Atlanta Dream maintained her rights but changed her status to "suspended" during the season... Stayed in Belarus to compete for the National Team... Led Belarus to its first appearance in the Olympics.

2007 WNBA SEASON: Appeared in six games for the Washington Mystics... Averaged 0.7 points and 0.5 rebounds per game.

2006 WNBA SEASON: Appeared in four games for the CharlotteSting... Averaged 3.0 points and 1.3 rebounds per game.

COLLEGE: Averaged 7.5 points and 6.2 rebounds while shooting .565 from the floor in 42 career games at West Virginia... Posted six double-doubles during her career with the Mountaineers... Suffered two consecutive season-ending ACL injuries, the first in her right knee just one game into the 2003-04 season and the second in her left knee 10 games into the 2004-05 season... Prior to attending West Virginia, attended Wabash Valley Junior College where she averaged 18.1 points and 12.8 rebounds and led her team to a 33-3 record... Named a WBCA/Kodak All-American in the junior college ranks two consecutive years... Began her college career at Seminole Junior College where she averaged 22 points and 11 rebounds.

	SEASON HIGHS	CAREER HIGHS
Points	13 vs. Phoenix 06/29/10	13 vs. Phoenix 06/29/10
Rebounds	11 vs. Chicago 08/17/10	11 vs. Chicago 08/17/10
Assists	2 vs. Chicago 08/17/10	2 (2 Times)
Steals	3 (3 Times)	3 (3 Times)
Blocks	1 (8 Times)	1 (9 Times)
Minutes	25 vs. Phoenix 06/29/10	25 vs. Phoenix 06/29/10

2010 SEAS	NC
GAMES	32
STARTS	0
MINUTES	10.6
FG %	0.476
3 PT FG %	0.200
FT%	0.744
REBOUNDS	2.6
ASSISTS	0.4
STEALS	0.5
BLOCKS	0.2
TURNOVERS	1.44
POINTS	4.2
	•

#11 Yelena Leuchanka 2010 Regular Season Game-by-Game Statistics

							3-POINT					-REBO	UNDS						
DATE	VISITOR	HOME	GP-GS	Min	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
05/21/2010	Sun	Dream	1-0	10:19	0-3	0.000	0-0	0.000	0-0	0.000	0	3	3/3.0	0	3-0	0	0	0	0/0.0
05/23/2010	Dream	Liberty	1-0	07:02	2-4	0.500	0-0	0.000	0-2	0.000	0	0	0/1.5	0	0-0	0	1	0	4/2.0
05/28/2010	Dream	Mercury	1-0	05:14	0-1	0.000	0-0	0.000	2-2	1.000	0	4	4/2.3	1	1-0	0	1	1	2/2.0
05/30/2010	Dream	Sparks	1-0	05:08	0-1	0.000	0-0	0.000	0-0	0.000	1	1	2/2.3	0	1-0	0	1	0	0/1.5
06/01/2010	Dream	Storm	1-0	15:18	3-8	0.375	0-0	0.000	2-2	1.000	2	1	3/2.4	1	0-0	1	1	0	8/2.8
06/04/2010	Sky	Dream	1-0	03:39	1-1	1.000	0-0	0.000	0-0	0.000	0	1	1/2.2	0	0-0	0	1	1	2/2.7
06/05/2010	Dream	Mystics	1-0	03:25	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/1.9	1	2-0	1	1	0	0/2.3
06/11/2010	Dream	Liberty	1-0	11:39	2-2	1.000	0-0	0.000	0-0	0.000	0	2	2/1.9	1	2-0	0	1	0	4/2.5
06/13/2010	Silver Stars	Dream	1-0	06:44	2-5	0.400	0-1	0.000	0-0	0.000	0	0	0/1.7	0	0-0	0	2	0	4/2.7
06/15/2010	Dream	Sky	1-0	06:39	0-2	0.000	0-0	0.000	2-2	1.000	2	0	2/1.7	1	0-0	0	1	0	2/2.6
06/19/2010	Dream	Fever	1-0	13:13	3-3	1.000	0-0	0.000	2-3	0.667	0	3	3/1.8	0	4-0	1	2	0	8/3.1
06/23/2010	Shock	Dream	1-0	05:28	0-1	0.000	0-0	0.000	2-2	1.000	1	0	1/1.8	0	0-0	0	1	0	2/3.0
06/27/2010	Sparks	Dream	1-0	24:11	4-7	0.571	0-0	0.000	0-1	0.000	1	3	4/1.9	0	3-0	3	3	1	8/3.4
06/29/2010	Mercury	Dream	1-0	25:23	5-8	0.625	0-0	0.000	3-4	0.750	5	4	9/2.4	1	3-0	0	1	0	13/4.1
07/01/2010	Lynx	Dream	1-0	14:33	4-6	0.667	0-0	0.000	0-0	0.000	0	3	3/2.5	1	1-0	3	1	1	8/4.3
07/03/2010	Sky	Dream	1-0	08:17	1-5	0.200	0-0	0.000	0-0	0.000	1	0	1/2.4	0	2-0	0	0	0	2/4.2
07/07/2010	Sun	Dream	1-0	15:17	4-5	0.800	0-0	0.000	1-2	0.500	0	4	4/2.5	0	4-0	1	2	1	9/4.5
07/14/2010	Dream	Lynx	1-0	17:00	1-1	1.000	0-0	0.000	4-4	1.000	3	2	5/2.6	1	3-0	0	2	1	6/4.6
07/16/2010	Dream	Fever	1-0	16:59	1-3	0.333	0-0	0.000	0-0	0.000	2	5	7/2.8	1	4-0	0	1	0	2/4.4
07/17/2010	Dream	Sun	1-0	14:36	1-3	0.333	0-1	0.000	3-6	0.500	2	2	4/2.9	0	1-0	0	2	0	5/4.5
07/21/2010	Dream	Mystics	1-0	08:14	0-1	0.000	0-0	0.000	1-2	0.500	1	2	3/2.9	0	2-0	0	4	0	1/4.3
07/25/2010	Liberty	Dream	1-0	02:50	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/2.8	0	1-0	0	0	0	0/4.1
07/27/2010	Dream	Shock	1-0	13:22	4-4	1.000	0-0	0.000	4-4	1.000	0	1	1/2.7	1	2-0	1	2	0	12/4.4
07/30/2010	Dream	Sun	1-0	14:02	2-8	0.250	0-1	0.000	0-0	0.000	1	3	4/2.8	0	3-0	0	2	0	4/4.4
08/01/2010	Fever	Dream	1-0	08:25	1-3	0.333	0-0	0.000	0-0	0.000	0	0	0/2.6	0	0-0	0	0	0	2/4.3
08/03/2010	Mystics	Dream	1-0	08:44	1-2	0.500	0-0	0.000	1-1	1.000	0	1	1/2.6	0	2-0	0	1	0	3/4.3
08/06/2010	Dream	Fever	1-0	03:15	0-1	0.000	0-0	0.000	2-2	1.000	1	1	2/2.6	0	1-0	0	1	0	2/4.2
08/10/2010	Storm	Dream	1-0	04:25	0-3	0.000	0-1	0.000	0-0	0.000	0	2	2/2.5	0	1-0	0	2	0	0/4.0
08/13/2010	Liberty	Dream	1-0	07:34	0-0	0.000	0-0	0.000	2-2	1.000	0	0	0/2.4	0	2-0	0	1	1	2/4.0
08/14/2010	Dream	Sky	1-0	14:24	4-4	1.000	0-0	0.000	1-2	0.500	0	1	1/2.4	0	4-0	2	3	1	9/4.1
08/17/2010	Sky	Dream	1-0	20:24	4-10	0.400	1-1	1.000	0-0	0.000	6	5	11/2.7	2	2-0	3	4	0	9/4.3
08/22/2010	Mystics	Dream	1-0	02:54	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/2.6	0	1-0	0	1	0	0/4.2
Player Total			32-0	338:37	50-105	0.476	1-5	0.200	32-43	0.744	29	54	83/2.6	12	55-0	16	46	8	133/4.2



WNBA TRANSACTIONS: Selected by Houston in the first round (fifth overall) of the 2005 WNBA Draft... Acquired by the Atlanta Dream from the Houston Comets in the 2008 dispersal draft with the first overall selection.

PERSONAL: Daughter of Evelyn Lyttle and Ian Cain... Nickname is "Saint"... Grew up in St.Vincent, West Indies... Did not play basketball until senior year of high school... Ran track in high school, competing in the 100, 200, 400, 800, 300 hurdles, high jump, long jump and the shot put... Lists best piece of advice ever received as, "My mom always told me never to give up on

anything. Even when it's not my turn, try my best and wait for it."

2009 WNBA SEASON: Selected to the WNBA All-Star team for the first time in her career ... Ranks fourth in WNBA in both defensive rebounds (182) and total rebounds (254) ... Started 31 of 34 games in the regular season and averaged 27.4 minutes a game ... Second on the team in steals (68) ... Averaged 13.0 points, 7.5 rebounds and 2.0 steals per game.

2008 WNBA SEASON: Played in 27 games for the Comets, including nine starts... Averaged 8.2 points, 6.2 rebounds, 1.5 steals and 1.0 blocks per game... Recorded career-highs in all major statistical categories... Led the team in field goal percentage, shooting 58.2% from the field... Led the team in blocked shots... Scored a career-high 23 points against San Antonio on June 26... Recorded a career-high 18 rebounds two times.

2007 WNBA SEASON: Played in 31 games for the Comets, including 25 starts... Averaged 5.9 points, 5.3 rebounds and 1.2 steals per game... Recorded her first career double-double with ten points and 11 rebounds against Connecticut on July 22. 2006 WNBA SEASON: Appeared in 29 games for the Comets, including 2 starts... Averaged 3.7 points and 3.9 rebounds per game.

2005 WNBA SEASON: Played in 33 games for the Comets as a rookie... Averaged 4.2 points and 3.8 rebounds... Ranked first among WNBA rookies in field goal percentage (58.4%)... Set the Comets rookie record for field goal percentage in a season... Finished second among rookies in rebounds per game (3.8)... Made her WNBA debut against San Antonio on May 21... Scored a season-high 13 points with four rebounds on June 15 against Los Angeles.

	SEASON HIGHS	CAREER HIGHS
Points	27 vs. Connecticut 05/21/10	27 vs. Connecticut 05/21/10
Rebounds	20 @ Indiana 06/19/10	20 @ Indiana 06/19/10
Assists	7 vs. Tulsa 06/23/10	7 vs. Tulsa 06/23/10
Steals	5 @ Connecticut 07/30/10	6 (2 Times)
Blocks	2 (7 Times)	4 @. Washington 06/07/09
Minutes	43 @ Washington 06/05/10	43 @ Washington 06/05/10

2010 SEAS	NC
GAMES	32
STARTS	31
MINUTES	29.1
FG %	0.484
3 PT FG %	0.000
FT %	0.725
REBOUNDS	9.9
ASSISTS	2.2
STEALS	1.7
BLOCKS	0.6
TURNOVERS	1.97
POINTS	12.8

CAREER PLAYOFF AVERAGES

Year	Team	G	GS	MPG	FG%	3P%	FT%	OFF	DEF	RPG	APG	SPG	BPG	то	PF	PPG
2005	HOU	5	0	6.8	0.600	0.000	0.667	0.4	2.0	2.4	0.0	0.4	0.0	0.00	1.00	2.0
2006	HOU	2	0	15.5	0.800	0.000	0.750	0.0	5.0	5.0	0.0	0.5	0.0	1.00	2.00	5.5
2009	ATL	2	2	25.5	0.412	0.000	0.429	1.5	3.5	5.0	2.0	2.0	0.0	2.00	4.00	8.5
Career		9	2	12.8	0.519	0.000	0.588	0.6	3.0	3.6	0.4	0.8	0.0	0.67	1.90	4.2

#20 Sancho Lyttle 2010 Regular Season Game-by-Game Statistics

						-		ı											
							3-POINT						UNDS						
DATE	VISITOR	HOME	GP-GS	Min	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
05/15/2010	Dream	Silver Stars	1-1	21:08	6-9	0.667	0-0	0.000	4-7	0.571	0	7	7/7.0	0	5-0	0	4	0	16/16.0
05/16/2010	Fever	Dream	1-1	28:04	2-9	0.222	0-0	0.000	1-3	0.333	2	5	7/7.0	1	2-0	2	3	1	5/10.5
05/21/2010	Sun	Dream	1-1	31:57	12-19	0.632	0-0	0.000	3-3	1.000	6	11	17/10.3	1	2-0	0	3	1	27/16.0
05/23/2010	Dream	Liberty	1-1	19:34	2-7	0.286	0-0	0.000	1-3	0.333	1	6	7/9.5	1	5-0	1	2	0	5/13.3
05/28/2010	Dream	Mercury	1-1	33:39	7-15	0.467	0-0	0.000	6-9	0.667	8	9	17/11.0	2	2-0	2	0	0	20/14.6
05/30/2010	Dream	Sparks	1-1	33:38	9-14	0.643	0-0	0.000	1-2	0.500	1	7	8/10.5	2	3-0	3	1	1	19/15.3
06/01/2010	Dream	Storm	1-1	25:58	4-7	0.571	0-0	0.000	2-2	1.000	1	5	6/9.9	0	3-0	0	3	1	10/14.6
06/04/2010	Sky	Dream	1-1	28:30	6-8	0.750	0-0	0.000	2-2	1.000	1	4	5/9.3	1	4-0	2	5	0	14/14.5
06/05/2010	Dream	Mystics	1-1	43:08	6-15	0.400	0-0	0.000	1-1	1.000	5	12	17/10.1	2	2-0	2	5	0	13/14.3
06/11/2010	Dream	Liberty	1-1	28:21	7-15	0.467	0-0	0.000	1-2	0.500	4	10	14/10.5	0	4-0	3	3	0	15/14.4
06/13/2010	Silver Stars	Dream	1-1	28:16	8-14	0.571	0-0	0.000	8-8	1.000	3	9	12/10.6	4	3-0	2	0	0	24/15.3
06/15/2010	Dream	Sky	1-1	33:21	5-9	0.556	0-0	0.000	5-6	0.833	0	4	4/10.1	2	3-0	2	4	1	15/15.3
06/19/2010	Dream	Fever	1-1	36:52	5-9	0.556	0-0	0.000	10-10	1.000	4	16	20/10.8	3	4-0	2	2	0	20/15.6
06/23/2010	Shock	Dream	1-1	34:05	4-6	0.667	0-0	0.000	3-5	0.600	2	10	12/10.9	7	2-0	3	1	2	11/15.3
06/27/2010	Sparks	Dream	1-1	32:19	5-11	0.455	0-0	0.000	2-4	0.500	4	7	11/10.9	1	3-0	0	2	2	12/15.1
06/29/2010	Mercury	Dream	1-1	21:04	4-11	0.364	0-0	0.000	3-5	0.600	2	1	3/10.4	3	1-0	0	1	2	11/14.8
07/01/2010	Lynx	Dream	1-1	31:01	4-10	0.400	0-0	0.000	2-2	1.000	3	11	14/10.6	3	1-0	3	2	1	10/14.5
07/03/2010	Sky	Dream	1-1	21:31	2-7	0.286	0-0	0.000	5-6	0.833	6	4	10/10.6	3	3-0	1	0	0	9/14.2
07/16/2010	Dream	Fever	1-0	20:10	4-11	0.364	0-0	0.000	2-2	1.000	2	2	4/10.3	0	1-0	2	2	0	10/14.0
07/17/2010	Dream	Sun	1-1	31:02	5-14	0.357	0-0	0.000	2-2	1.000	4	7	11/10.3	0	1-0	1	2	0	12/13.9
07/21/2010	Dream	Mystics	1-1	36:31	3-5	0.600	0-0	0.000	3-4	0.750	1	7	8/10.2	1	4-0	1	1	0	9/13.7
07/25/2010	Liberty	Dream	1-1	27:16	4-9	0.444	0-0	0.000	3-4	0.750	3	4	7/10.0	4	2-0	1	2	0	11/13.5
07/27/2010	Dream	Shock	1-1	28:41	8-15	0.533	0-0	0.000	4-5	0.800	4	10	14/10.2	1	4-0	4	0	0	20/13.8
07/30/2010	Dream	Sun	1-1	21:31	4-8	0.500	0-0	0.000	0-0	0.000	1	5	6/10.0	3	2-0	5	0	0	8/13.6
08/01/2010	Fever	Dream	1-1	29:59	5-9	0.556	0-0	0.000	3-4	0.750	4	4	8/10.0	3	3-0	4	2	2	13/13.6
08/03/2010	Mystics	Dream	1-1	19:07	4-8	0.500	0-0	0.000	2-4	0.500	3	6	9/9.9	2	6-1	2	0	0	10/13.4
08/06/2010	Dream	Fever	1-1	33:50	5-7	0.714	0-0	0.000	2-2	1.000	2	6	8/9.9	3	4-0	1	4	0	12/13.4
08/10/2010	Storm	Dream	1-1	35:17	5-20	0.250	0-0	0.000	2-4	0.500	12	5	17/10.1	1	3-0	0	3	0	12/13.3
08/13/2010	Liberty	Dream	1-1	33:21	4-9	0.444	0-0	0.000	0-2	0.000	5	8	13/10.2	5	4-0	2	3	0	8/13.1
08/14/2010	Dream	Sky	1-1	15:03	4-5	0.800	0-0	0.000	0-0	0.000	2	2	4/10.0	1	3-0	0	0	2	8/13.0
08/17/2010	Sky	Dream	1-1	26:24	2-4	0.500	0-0	0.000	1-1	1.000	1	4	5/9.8	4	3-0	1	2	2	5/12.7
08/22/2010	Mystics	Dream	1-1	39:04	7-16	0.438	0-0	0.000	3-6	0.500	5	6	11/9.9	6	4-0	3	1	2	17/12.8
Player Total			32-31	929:42	162-335	0.484	0-0	0.000	87-120	0.725	102	214	316/9.9	70	96-1	55	63	20	411/12.8



WNBA TRANSACTIONS: Drafted by the Atlanta Dream with the first overall pick in the 2009 WNBA draft.

PERSONAL: Native of Baltimore, MD... Daughter of Roi and Sharon McCoughtry...Majored in Communications at Louisville... Graduated from St.Francis High School and then spent one year at the Patterson School in North Carolina... Writing a book about her story growing up to encourage children.

2009 WNBA SEASON: Named WNBA Rookie of the Year ... Average 21.6 minutes, 12.8 points, 3.1 rebounds and 2.1 steals per game in her rookie season ... Ranks first in WNBA in steal per 40 minutes (4.03) and fourth in average steals per game (2.1) ... averaged 19.0 points per game in playoffs ... Led team in steals with 74 for the season ... Scored career high in points (34) vs. San Antonio August 20, 2009.

COLLEGE: All-time leading scorer and rebounder at Louisville with 2,779 points and 1,261 rebounds... Averaged 20 points and 9.1 rebounds per game in collegiate career... Averaged 23.1 points and 9.3 rebounds per game as a senior... Led Louisville to the championship game and the first Final Four in program history as a senior... Named Big East Defensive Player of the Year as a senior... Three-time All-Big East first team selection... Three-time WBCA/State Farm All-American... Louisville's first three time All-American... First team All-American by the Associated Press, USBWA, ESPN.com, and CBSSportsline.com as a senior....Led the Big East in scoring, rebounding and steals for three straight years... Led the nation in steals as a senior with 4.3 per game... Scored a career-high 41 points against DePaul as a senior, tying her own school scoring record...Set a new single season scoring record with 858 points as a senior, surpassing her own record set during her sophomore year...Big East All-Freshman Team (2006)... Gold medalist on Team USA at Pan American Games in 2007.

	SEASON HIGHS	CAREER HIGHS
Points	32 (3 Times)	34 vs. San Antonio 08/20/09
Rebounds	10 (4 Times)	13 @ Washington 09/12/09
Assists	7 vs. Indiana 08/1/10	10 @ Sacramento 09/04/09
Steals	5 (2 Times)	7 vs. New York 08/01/09
Blocks	3 @ San Antonio 05/15/10	3 @ San Antonio 05/15/10
Minutes	37 @ 2 Times	39 @ Detroit 08/27/09

2010 SEAS(NC
GAMES	34
STARTS	34
MINUTES	30.7
FG %	0.408
3 PT FG %	0.262
FT %	0.803
REBOUNDS	4.9
ASSISTS	3.1
STEALS	1.9
BLOCKS	0.6
TURNOVERS	3.18
POINTS	21.1

CAREER PLAYOFF AVERAGES

Year	Team	G	GS	MPG	FG%	3P%	FT%	OFF	DEF	RPG	APG	SPG	BPG	TO	PF	PPG
2009	ATL	2	2	29.0	0.484	0.571	0.667	0.5	5.0	5.5	3.0	1.0	0.0	6.00	3.50	19.0
Career		2	2	29.0	0.484	0.571	0.667	0.5	5.0	5.5	3.0	1.0	0.0	6.00	3.50	19.0

#35 Angel McCoughtry 2010 Regular Season Game-by-Game Statistics

Part					-0-			3-POINT			,		-REBO	UNDS						
601.5000 Designed Singer 1.1 3.50 3.20 0.00 3.50 3.00 2.00 3.00 2.00 <th>DATE</th> <th>VISITOR</th> <th>HOME</th> <th>GP-GS</th> <th>Min</th> <th>FGM-FGA</th> <th>FG%</th> <th></th> <th>FG%</th> <th>FTM-FTA</th> <th>FT%</th> <th></th> <th></th> <th></th> <th>AST</th> <th>PF-DO</th> <th>STL</th> <th>то</th> <th>BLK</th> <th>PTS/AVG</th>	DATE	VISITOR	HOME	GP-GS	Min	FGM-FGA	FG%		FG%	FTM-FTA	FT%				AST	PF-DO	STL	то	BLK	PTS/AVG
Section December Section Sec																				
05/12/12/10/10 Stame Dream 1.1 34.27 1.1.24 0.48 1.5 0.70 9.90 1.00 1.0 1.0 0.0 2.0 2.00 9.91 0.00 9.1 4.5 0.0 2.2 1.0 2.0 2.0 9.00 9.1 0.00 5.5 0.0 5.5 0.0 2.2 1.0 2.0 2.0 2.0 0.00 0.0 <t< td=""><td>05/15/2010</td><td>Dream</td><td></td><td>1-1</td><td>35:49</td><td>8-20</td><td>0.400</td><td>1-5</td><td>0.200</td><td>3-5</td><td>0.600</td><td>2</td><td>2</td><td>4/4.0</td><td>1</td><td>3-0</td><td>4</td><td>6</td><td>3</td><td>20/20.0</td></t<>	05/15/2010	Dream		1-1	35:49	8-20	0.400	1-5	0.200	3-5	0.600	2	2	4/4.0	1	3-0	4	6	3	20/20.0
	05/16/2010	Fever	Dream	1-1	25:23	4-13	0.308	0-2	0.000	3-6	0.500	3	1	4/4.0	3	4-0	0	3	0	11/15.5
0528/2010 Drawn Meruny 1.1 33.14 1.12.8 0.39 2.5 0.40 0.40 0.50 3.7 2.2 5.54.6 4.0 2.00 2.1 3.22.4 1.1 3.16 1.22.2 0.545 0.4 0.00 8.0 3.0 3.0 3.0 8.58.8 2.2 4.0 1.1 2.2 1.1 3.22.40 0.00 3.4 0.00 3.0 0.00 5.5 3.0 8.58.8 1.2 4.0 0.0 2.2 1.1 3.22.40 0.00 0.00 3.4 0.00 0.0	05/21/2010	Sun	Dream	1-1	34:21	11-24	0.458	1-5	0.200	9-9	1.000	4	6	10/6.0	5	2-0	4	4	2	32/21.0
050302010 Dream Sparts 1-1 34-10 1-22 0.54 0-4 0.00 -8-10 0.00 -5 -3 8-55 -2 -0-10 -1 0-22 0-1 0-22 2-4 0.50 0-3 0-0 -3 2-5 5-5 3 2-0 4 0-1 0-122-19 06-05/2010 Styr Dream 1-1 2-23 3-10 0.00 2-4 0.00 7-7 1.00 1 2-55 2 2-0 0-1 2-2 0.00 0-7 1.00 0 1 2-55 0 2-0 0 2-2 0 0 1.00 0	05/23/2010	Dream	Liberty	1-1	25:45	6-12	0.500	0-2	0.000	9-11	0.818	3	1	4/5.5	6	5-0	0	2	1	21/21.0
0601/2000 Deam Storm 1.1 3.206 7.7-24 0.929 2.4 0.509 0.3 0.0 2.5 5.5 0.5 0.0 0.0 2.0 0.5 0.0	05/28/2010	Dream	Mercury	1-1	33:14	11-28	0.393	2-5	0.400	4-7	0.571	3	2	5/5.4	4	3-0	1	2	2	28/22.4
1	05/30/2010	Dream	Sparks	1-1	34:16	12-22	0.545	0-4	0.000	8-10	0.800	5	3	8/5.8	2	4-0	1	2	1	32/24.0
0605/2010 Dream Mysics 1.1 330 8-15 0.33 0-2 0.00 7-7 1.00 1.1 2.1 2.2 2.0 2.0 2.0 2.0 3.0 3.51 3.3 3.0 2.0 3.3 1.0 122.06 0613/2010 Silver Stars Dream 1.1 1.2 1.5 7-14 0.500 0-1 0.00 0-0 0.00 3.5 1.5 3.0 0.1 1.0 2.2 4 652.2 1.6 0.3 0.0 2.0 0.0	06/01/2010	Dream	Storm	1-1	32:06	7-24	0.292	2-4	0.500	0-3	0.000	3	2	5/5.7	3	2-0	4	4	0	16/22.9
	06/04/2010	Sky	Dream	1-1	22:32	3-10	0.300	2-4	0.500	3-4	0.750	0	6	6/5.8	1	4-0	0	2	2	11/21.4
0613/2010 Silver Sams Dream 1.1 3.635 7.14 0.500 -0.1 0.000 -0.000 <td>06/05/2010</td> <td>Dream</td> <td>Mystics</td> <td>1-1</td> <td>33:04</td> <td>8-15</td> <td>0.533</td> <td>0-2</td> <td>0.000</td> <td>7-7</td> <td>1.000</td> <td>1</td> <td>1</td> <td>2/5.3</td> <td>2</td> <td>2-0</td> <td>4</td> <td>2</td> <td>0</td> <td>23/21.6</td>	06/05/2010	Dream	Mystics	1-1	33:04	8-15	0.533	0-2	0.000	7-7	1.000	1	1	2/5.3	2	2-0	4	2	0	23/21.6
0615/2010 Dream Sky 1-1 33-54 5-16 0.31 0-3 0-00 0-0 0-00 2 4 6-152 6-1 2-1 1-1 2-1 1-1 0-538 3-7 0-429 4-44 1.00 1 2-2 2-35.0 0 3-3 0 2-120 06237/2010 Shock Dream 1-1 3-33.7 1-1-2 0.500 2-4 0.500 5-5 1.00 1 9-10-54 2-2 0.3 7 0-0 2-20-00 0627/2010 Shock Dream 1-1 3-143 7-22 0.318 2-6 0.33 3-4 0.50 1-5 1.00 1-5 1.00 1-5 1.00 1-10 2-10 1.00 1-5 1.00 1-5 1.00 1-5 1.00 1-5 1.00 1-5 1.00 1-5 1.00 1-5 1.00 1-5 1.00 1-5 1.00 1-5 1.00 1-5 1.00 <t< td=""><td>06/11/2010</td><td>Dream</td><td>Liberty</td><td>1-1</td><td>19:28</td><td>6-12</td><td>0.500</td><td>0-1</td><td>0.000</td><td>0-2</td><td>0.000</td><td>3</td><td>0</td><td>3/5.1</td><td>3</td><td>3-0</td><td>0</td><td>3</td><td>1</td><td>12/20.6</td></t<>	06/11/2010	Dream	Liberty	1-1	19:28	6-12	0.500	0-1	0.000	0-2	0.000	3	0	3/5.1	3	3-0	0	3	1	12/20.6
	06/13/2010	Silver Stars	Dream	1-1	36:35	7-14	0.500	0-1	0.000	9-10	0.900	2	3	5/5.1	5	4-0	0	1	0	23/20.8
0623/2010 Shock Dream 1-1 32:37 11-22 0.500 2-4 0.500 5-5 1.000 1-1 9 10-54 2 2-0 3 7 0 29200-1 0627/2010 Sparks Dream 1-1 31:41 7-22 0.318 2-6 0.333 3-4 0.750 3 5 8.55 5 1-0 22 3 0 1-0 1-2 0 1-0 0.50 0.50 1-0 0.50 0.50 0.50 0.50 0.55 0.833 0 3 3.54 3 4 4 0.00 0.50	06/15/2010	Dream	Sky	1-1	35:44	5-16	0.313	0-3	0.000	0-0	0.000	2	4	6/5.2	6	3-0	1	4	1	10/19.9
0627/2010 Sparks Dream 1-1 313-ll 7-22 0.318 2-6 0.333 3-4 0.750 3 5 8.55 5 1-0 2 3 0 19/20.5 06/29/2010 Mercury Dream 1-1 27.72 6-12 0.500 1-2 0.500 5-6 0.833 0 3 3.54 3 3.0 2 4 0 1.1 20.0 1.1 2.4 0.0 1.1 2.0 1.1 2.4 2.0 2.0 0.0 1.1 0.0 1.1 2.4 0.0 0.0 0.0 0.0 1.1 0.0 3.0 0.0 1.1 0.0 3.0 0.0 1.1 0.0 1.1 0.0 0.0 2.2 0.0 0.0 0.0 0.3 0.7 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0<	06/19/2010	Dream	Fever	1-1	22:41	7-13	0.538	3-7	0.429	4-4	1.000	1	2	3/5.0	5	5-0	0	3	0	21/20.0
October Octo	06/23/2010	Shock	Dream	1-1	32:37	11-22	0.500	2-4	0.500	5-5	1.000	1	9	10/5.4	2	2-0	3	7	0	29/20.6
O701/2010 Lynx Dream 1-1 34:43 4-16 0.250 0-4 0.00 2-2 1.00 1 0 1.51 4 2-0 5 5 1 10/19/8 07/03/2010 Sky Dream 1-1 24:36 5-20 0.250 0-5 0.00 10-12 0.833 1 2 3:50 0 3 3 1 20/19/8 07/07/2010 Sun Dream 1-1 33:16 11-27 0.407 2-4 0.50 8-10 0.80 3 7 10:53 2 5-0 0 4 1 2 2:70.7 0 2 5-0 0 0 2 0 1 15:1 4 0 0 25:20.7 0 2 0 0 1 15:1 15:1 4 1 1 0 2 2 3 55:1 1 0 2 2 0 1 15:1 1	06/27/2010	Sparks	Dream	1-1	31:41	7-22	0.318	2-6	0.333	3-4	0.750	3	5	8/5.5	5	1-0	2	3	0	19/20.5
Original Original	06/29/2010	Mercury	Dream	1-1	27:26	6-12	0.500	1-2	0.500	5-6	0.833	0	3	3/5.4	3	3-0	2	4	0	18/20.4
O707/2010 Sun Dream 1-1 33:16 11-27 0.407 2-4 0.500 8-10 0.800 3 7 10/5.3 2 5-0 0 4 1 32/20.4 07/14/2010 Dream Lynx 1-1 36:03 9-21 0.429 0-5 0.000 7-8 0.875 1 5 6/5.3 1 4-0 4 3 0 25/20.7 07/16/2010 Dream Fever 1-1 32:93 6-11 0.545 1-1 1.000 14-17 0.824 0 1 1/5.1 2 5-0 3 7 0 27/21.2 07/17/2010 Dream Mystics 1-1 34:14 9-20 0.450 2-3 0.667 3-4 0.750 5 1 6/5.1 0 5 0 20/21.1 23/21.3 0 2 1 6/5.1 0 0 2 2 0 0 2 1 6/5.1	07/01/2010	Lynx	Dream	1-1	34:43	4-16	0.250	0-4	0.000	2-2	1.000	1	0	1/5.1	4	2-0	5	5	1	10/19.8
O7/14/2010 Dream Lynx 1-1 36:03 9-21 0.429 0.5 0.000 7-8 0.875 1 5 6/5.3 1 4-0 4 3 0 25/20.7 07/16/2010 Dream Fever 1-1 32:53 6-11 0.545 1-1 1.000 14-17 0.824 0 1 1/5.1 2 5-0 3 7 0 27/21.0 07/17/2010 Dream Sun 1-1 34:09 11-26 0.423 0-3 0.000 5-5 1.000 2 3 5/5.1 1 6-1 1 5 0 27/21.2 07/21/2010 Dream Mystics 1-1 34:14 9-20 0.450 3-5 0.600 7-8 0.875 1 9 10/5.3 6 3-0 3 6 1 28/21.6 07/21/2010 Dream Shock 1-1 24:05 5-14 0.357 1-4 0.250 0	07/03/2010	Sky	Dream	1-1	24:36	5-20	0.250	0-5	0.000	10-12	0.833	1	2	3/5.0	0	3-0	3	3	1	20/19.8
O7/16/2010 Dream Fever 1-1 32:53 6-11 0.545 1-1 1.000 14-17 0.824 0 1 1/5.1 2 5-0 3 7 0 27/21.0	07/07/2010	Sun	Dream	1-1	33:16	11-27	0.407	2-4	0.500	8-10	0.800	3	7	10/5.3	2	5-0	0	4	1	32/20.4
O7/17/2010 Dream Sun 1-1 34:09 11-26 0.423 0-3 0.000 5-5 1.000 2 3 5/5.1 1 6-1 1 5 0 27/21.2 07/21/2010 Dream Mystics 1-1 34:14 9-20 0.450 2-3 0.667 3-4 0.750 5 1 6/5.1 0 5-0 1 2 0 23/21.3 07/25/2010 Liberty Dream 1-1 37:17 9-20 0.450 3-5 0.600 7-8 0.875 1 9 10/5.3 6 3-0 3 6 1 28/21.6 07/27/2010 Dream Shock 1-1 24:05 5-14 0.357 1-4 0.250 0-0 0.000 2 1 3/5.2 5 1-0 0 4 0 11/21.2 07/30/2010 Dream 1-1 32:31 8-20 0.400 3-9 0.333 1-2 0.	07/14/2010	Dream	Lynx	1-1	36:03	9-21	0.429	0-5	0.000	7-8	0.875	1	5	6/5.3	1	4-0	4	3	0	25/20.7
O7/21/2010 Dream Mystics 1-1 34:14 9-20 0.450 2-3 0.667 3-4 0.750 5 1 6/5.1 0 5-0 1 2 0 23/21.3 07/25/2010 Liberty Dream 1-1 37:17 9-20 0.450 3-5 0.600 7-8 0.875 1 9 10/5.3 6 3-0 3 6 1 28/21.6 07/27/2010 Dream Shock 1-1 24:05 5-14 0.357 1-4 0.250 0-0 0.000 2 1 3/5.2 5 1-0 0 4 0 11/21.2 07/30/2010 Dream Sun 1-1 23:13 8-20 0.400 3-9 0.333 1-2 0.500 0 6 6/5.3 3 1-0 2 0 0 2 3 5/5.3 7 0-0 2 4 2 20/21.1 0 0 0/5.1 2	07/16/2010	Dream	Fever	1-1	32:53	6-11	0.545	1-1	1.000	14-17	0.824	0	1	1/5.1	2	5-0	3	7	0	27/21.0
O7/25/2010 Liberty Dream 1-1 37:17 9-20 0.450 3-5 0.600 7-8 0.875 1 9 10/5.3 6 3-0 3 6 1 28/21.6 07/27/2010 Dream Shock 1-1 24:05 5-14 0.357 1-4 0.250 0-0 0.000 2 1 3/5.2 5 1-0 0 4 0 11/21.2 07/30/2010 Dream Sun 1-1 23:13 8-20 0.400 3-9 0.333 1-2 0.500 0 6 6/5.3 3 1-0 2 0 0 20/21.1 08/01/2010 Fever Dream 1-1 32:30 5-13 0.385 0-4 0.000 10-10 1.000 2 3 5/5.3 7 0-0 2 4 2 20/21.1 08/03/2010 Mystics Dream 1-1 37:27 9-17 0.529 1-4 0.250 <td< td=""><td>07/17/2010</td><td>Dream</td><td>Sun</td><td>1-1</td><td>34:09</td><td>11-26</td><td>0.423</td><td>0-3</td><td>0.000</td><td>5-5</td><td>1.000</td><td>2</td><td>3</td><td>5/5.1</td><td>1</td><td>6-1</td><td>1</td><td>5</td><td>0</td><td>27/21.2</td></td<>	07/17/2010	Dream	Sun	1-1	34:09	11-26	0.423	0-3	0.000	5-5	1.000	2	3	5/5.1	1	6-1	1	5	0	27/21.2
07/27/2010 Dream Shock 1-1 24:05 5-14 0.357 1-4 0.250 0-0 0.000 2 1 3/5.2 5 1-0 0 4 0 11/21.2 07/30/2010 Dream Sun 1-1 23:13 8-20 0.400 3-9 0.333 1-2 0.500 0 6 6/5.3 3 1-0 2 0 0 20/21.1 08/01/2010 Fever Dream 1-1 32:30 5-13 0.385 0-4 0.000 10-10 1.000 2 3 5/5.3 7 0-0 2 4 2 20/21.1 08/03/2010 Mystics Dream 1-1 29:54 8-18 0.444 2-4 0.500 12-13 0.923 0 0 0/5.1 2 5-0 5 3 0 30/21.4 08/10/2010 Dream Fever 1-1 37:27 9-17 0.529 1-4 0.250	07/21/2010	Dream	Mystics	1-1	34:14	9-20	0.450	2-3	0.667	3-4	0.750	5	1	6/5.1	0	5-0	1	2	0	23/21.3
07/30/2010 Dream Sun 1-1 23:13 8-20 0.400 3-9 0.333 1-2 0.500 0 6 6/5.3 3 1-0 2 0 0 20/21.1 08/01/2010 Fever Dream 1-1 32:30 5-13 0.385 0-4 0.000 10-10 1.000 2 3 5/5.3 7 0-0 2 4 2 20/21.1 08/03/2010 Mystics Dream 1-1 29:54 8-18 0.444 2-4 0.500 12-13 0.923 0 0 0/5.1 2 5-0 5 3 0 30/21.4 08/06/2010 Dream Fever 1-1 37:27 9-17 0.529 1-4 0.250 12-16 0.750 0 4 4/5.0 3 2-0 1 2 1 31/21.7 08/10/2010 Dream 1-1 31:33 8-19 0.421 1-2 0.500 5-6	07/25/2010	Liberty	Dream	1-1	37:17	9-20	0.450	3-5	0.600	7-8	0.875	1	9	10/5.3	6	3-0	3	6	1	28/21.6
08/01/2010 Fever Dream 1-1 32:30 5-13 0.385 0-4 0.000 10-10 1.000 2 3 5/5.3 7 0-0 2 4 2 20/21.1 08/03/2010 Mystics Dream 1-1 29:54 8-18 0.444 2-4 0.500 12-13 0.923 0 0 0 0/5.1 2 5-0 5 3 0 30/21.4 08/06/2010 Dream Fever 1-1 37:27 9-17 0.529 1-4 0.250 12-16 0.750 0 4 4/5.0 3 2-0 1 2 1 31/21.7 08/10/2010 Storm Dream 1-1 33:02 3-19 0.158 0-3 0.000 10-15 0.667 2 2 4/5.0 4 4-0 4 3 0 16/21.5 08/13/2010 Liberty Dream 1-1 31:33 8-19 0.421 1-2 0.500 5-6 0.833 0 3 3/4.9 4 2-0 2 1 0 22/21.5 08/14/2010 Dream Sky 1-1 20:20 5-12 0.417 0-1 0.000 3-3 1.000 4 1 5/4.9 3 2-0 2 0 1 13/21.3 08/17/2010 Sky Dream 1-1 36:24 8-17 0.471 0-4 0.000 0-2 0.000 1 3 4/4.9 0 2-0 0 1 0 16/21.1 08/22/2010 Mystics Dream 1-1 36:02 4-14 0.286 1-4 0.250 10-12 0.833 2 3 5/4.9 2 5-0 2 3 0 19/21.1	07/27/2010	Dream	Shock	1-1	24:05	5-14	0.357	1-4	0.250	0-0	0.000	2	1	3/5.2	5	1-0	0	4	0	11/21.2
08/03/2010 Mystics Dream 1-1 29:54 8-18 0.444 2-4 0.500 12-13 0.923 0 0 0 0/5.1 2 5-0 5 3 0 30/21.4 08/06/2010 Dream Fever 1-1 37:27 9-17 0.529 1-4 0.250 12-16 0.750 0 4 4/5.0 3 2-0 1 2 1 31/21.7 08/10/2010 Storm Dream 1-1 33:02 3-19 0.158 0-3 0.000 10-15 0.667 2 2 4/5.0 4 4-0 4 3 0 16/21.5 08/13/2010 Liberty Dream 1-1 31:33 8-19 0.421 1-2 0.500 5-6 0.833 0 3 3/4.9 4 2-0 2 1 0 22/21.5 08/14/2010 Dream Sky 1-1 20:20 5-12 0.417 0-1 0.000 3-3 1.000 4 1 5/4.9 3 2-0 2 0 1 13/21.3 08/17/2010 Sky Dream 1-1 36:24 8-17 0.471 0-4 0.000 0-2 0.000 1 3 4/4.9 0 2-0 0 1 0 16/21.1 08/22/2010 Mystics Dream 1-1 36:02 4-14 0.286 1-4 0.250 10-12 0.833 2 3 5/4.9 2 5-0 2 3 0 19/21.1	07/30/2010	Dream	Sun	1-1	23:13	8-20	0.400	3-9	0.333	1-2	0.500	0	6	6/5.3	3	1-0	2	0	0	20/21.1
08/06/2010 Dream Fever 1-1 37:27 9-17 0.529 1-4 0.250 12-16 0.750 0 4 4/5.0 3 2-0 1 2 1 31/21.7 08/10/2010 Storm Dream 1-1 33:02 3-19 0.158 0-3 0.000 10-15 0.667 2 2 4/5.0 4 4-0 4 3 0 16/21.5 08/13/2010 Liberty Dream 1-1 31:33 8-19 0.421 1-2 0.500 5-6 0.833 0 3 3/4.9 4 2-0 2 1 0 22/21.5 08/14/2010 Dream Sky 1-1 20:20 5-12 0.417 0-1 0.000 3-3 1.000 4 1 5/4.9 3 2-0 2 0 1 13/21.3 08/17/2010 Sky Dream 1-1 26:24 8-17 0.471 0-4 0.000 0-	08/01/2010	Fever	Dream	1-1	32:30	5-13	0.385	0-4	0.000	10-10	1.000	2	3	5/5.3	7	0-0	2	4	2	20/21.1
08/10/2010 Storm Dream 1-1 33:02 3-19 0.158 0-3 0.000 10-15 0.667 2 2 4/5.0 4 4-0 4 3 0 16/21.5 08/13/2010 Liberty Dream 1-1 31:33 8-19 0.421 1-2 0.500 5-6 0.833 0 3 3/4.9 4 2-0 2 1 0 22/21.5 08/14/2010 Dream Sky 1-1 20:20 5-12 0.417 0-1 0.000 3-3 1.000 4 1 5/4.9 3 2-0 2 0 1 13/21.3 08/17/2010 Sky Dream 1-1 26:24 8-17 0.471 0-4 0.000 0-2 0.000 1 3 4/4.9 0 2-0 0 1 0 16/21.1 08/17/2010 Mystics Dream 1-1 36:02 4-14 0.286 1-4 0.250 10	08/03/2010	Mystics	Dream	1-1	29:54	8-18	0.444	2-4	0.500	12-13	0.923	0	0	0/5.1	2	5-0	5	3	0	30/21.4
08/13/2010 Liberty Dream 1-1 31:33 8-19 0.421 1-2 0.500 5-6 0.833 0 3 3/4.9 4 2-0 2 1 0 22/21.5 08/14/2010 Dream Sky 1-1 20:20 5-12 0.417 0-1 0.000 3-3 1.000 4 1 5/4.9 3 2-0 2 0 1 13/21.3 08/17/2010 Sky Dream 1-1 26:24 8-17 0.471 0-4 0.000 0-2 0.000 1 3 4/4.9 0 2-0 0 1 0 16/21.1 08/22/2010 Mystics Dream 1-1 36:02 4-14 0.286 1-4 0.250 10-12 0.833 2 3 5/4.9 2 5-0 2 3 0 19/21.1	08/06/2010	Dream	Fever	1-1	37:27	9-17	0.529	1-4	0.250	12-16	0.750	0	4	4/5.0	3	2-0	1	2	1	31/21.7
08/14/2010 Dream Sky 1-1 20:20 5-12 0.417 0-1 0.000 3-3 1.000 4 1 5/4.9 3 2-0 2 0 1 13/21.3 08/17/2010 Sky Dream 1-1 26:24 8-17 0.471 0-4 0.000 0-2 0.000 1 3 4/4.9 0 2-0 0 1 0 16/21.1 08/22/2010 Mystics Dream 1-1 36:02 4-14 0.286 1-4 0.250 10-12 0.833 2 3 5/4.9 2 5-0 2 3 0 19/21.1	08/10/2010	Storm	Dream	1-1	33:02	3-19	0.158	0-3	0.000	10-15	0.667	2	2	4/5.0	4	4-0	4	3	0	16/21.5
08/17/2010 Sky Dream 1-1 26:24 8-17 0.471 0-4 0.000 0-2 0.000 1 3 4/4.9 0 2-0 0 1 0 16/21.1 08/22/2010 Mystics Dream 1-1 36:02 4-14 0.286 1-4 0.250 10-12 0.833 2 3 5/4.9 2 5-0 2 3 0 19/21.1	08/13/2010	Liberty	Dream	1-1	31:33	8-19	0.421	1-2	0.500	5-6	0.833	0	3	3/4.9	4	2-0	2	1	0	22/21.5
08/22/2010 Mystics Dream 1-1 36:02 4-14 0.286 1-4 0.250 10-12 0.833 2 3 5/4.9 2 5-0 2 3 0 19/21.1	08/14/2010	Dream	Sky	1-1	20:20	5-12	0.417	0-1	0.000	3-3	1.000	4	1	5/4.9	3	2-0	2	0	1	13/21.3
	08/17/2010	Sky	Dream	1-1	26:24	8-17	0.471	0-4	0.000	0-2	0.000	1	3	4/4.9	0	2-0	0	1	0	16/21.1
Player Total 34-34 1044:23 246-603 0.408 33-126 0.262 191-238 0.803 63 104 167/4.9 105 107-1 66 108 21 716/21.1	08/22/2010	Mystics	Dream	1-1	36:02	4-14	0.286	1-4	0.250	10-12	0.833	2	3	5/4.9	2	5-0	2	3	0	19/21.1
	Player Total	•		34-34	1044:23	246-603	0.408	33-126	0.262	191-238	0.803	63	104	167/4.9	105	107-1	66	108	21	716/21.1



WNBA TRANSACTIONS: Selected by the Washington Mystics in the first round of the 2001 WNBA Draft with the ninth overall pick... Waived by the Mystics on May 11, 2009... Signed by the Dream on May 15, 2009... Re-signed by the Dream on March 17, 2010

2009 WNBA SEASON: Played in all 34 Dream games starting 5 times ... Averaged 3.9 points, 1.5 rebounds and 1.0 assists per game ... Led the team in free throw percentage (.885).

2008 WNBA SEASON: Started 6 of Washington Mystics 34 games ... Averaged 5.3 points, 2.5 rebounds and 1.4 assists

2007 WNBA SEASON: Played in 30 games posting 2 starts...averaging 15.2 minutes...averaged 4.0 points, 1.6 rebounds, .8 assists and .6 steals per game...shot a career high 100% from the free throw line...had a season high 15 points in a game against the Connecticut Sun (8/14/07)...shot 40.5% from the field and 40% from behind the arc...

2006 WNBA SEASON: Longest tenured Mystics player...Started four games...averaged 6.1 ppg... Shot a career-high 49% from the field, a career-high 40% from the three point line and a career-high 89% from the free throw line...Playoffs: averaged 8.0 ppg and 3.0 rpg...

2005 WNBA SEASON: Started four games...averaged 4.5 ppg...shot 42% from the field and 80% from the line

2004 WNBA SEASON: Started eight games... Averaged 4.8 ppg and 1.3 apg...Playoffs: averaged 5.3 ppg and 2.33 rpg

2003 WNBA SEASON: Started every game...increased her scoring averaged from 9.3 to 12.5 ppg, ranked 11th in field goals and 19th in points per game and minutes played

2002 WNBA SEASON: Started every game...recorded career-highs in virtually every category...was named the WNBA's Most Improved Player of the Year...Playoffs: averaged 16.5 ppg and 3.0 rpg

2001 WNBA SEASON: Played in 20 games for 137 minutes...averaged 1.7 ppg

	SEASON HIGHS	CAREER HIGHS
Points	12 @ Connecticut 07/30/10	23 @ Charlotte 08/14/03
Rebounds	4 vs. Washington 08/22/10	8 vs. Detroit 07/18/02
Assists	6 @ Chicago 08/14/10	7 (3 Times)
Steals	1 (5 Times)	5 @ Detroit 07/27/03
Blocks	None	2 (3 Times)
Minutes	22 vs. Washington 08/22/10	40 (3 Times)

2010 SEAS(NC
GAMES	27
STARTS	0
MINUTES	7.3
FG %	0.400
3 PT FG %	0.192
FT %	0.857
REBOUNDS	0.6
ASSISTS	0.8
STEALS	0.2
BLOCKS	0.0
TURNOVERS	0.74
POINTS	3.1

CAREER PLAYOFF AVERAGES

	Team	G	GS	MPG	FG%	3P%	FT%	OFF	DEF	RPG	APG	SPG	BPG	то	PF	PPG
2002	WAS	5	5	32.6	0.420	0.545	0.600	1.4	1.6	3.0	2.4	0.4	0.0	1.40	2.60	10.8
2004	WAS	3	0	17.0	0.368	0.000	1.000	1.0	1.3	2.3	0.7	1.7	0.0	0.67	0.70	5.3
2006	WAS	2	0	19.0	0.467	0.500	0.250	1.0	2.0	3.0	1.0	0.5	0.0	2.00	3.50	8.0
2009	ATL	2	0	6.5	0.600	1.000	0.000	0.0	0.0	0.0	1.0	0.0	0.0	0.50	0.00	3.5
Career		12	5	22.1	0.427	0.571	0.563	1.0	1.3	2.3	1.5	0.7	0.0	1.17	1.80	7.8

#9 Coco Miller 2010 Regular Season Game-by-Game Statistics

				- 0			3-POINT					-DERO	UNDS						
DATE	VISITOR	HOME	GP-GS	Min	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DO	STL	то	BLK	PTS/AVG
DATE	VISITOR	Silver		MIII		FG/0		FG /6			OFF			ASI	уд-11	SIL	10		
05/15/2010	Dream	Stars	1-0	04:56	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.0	0	0-0	1	0	0	0/0.0
05/21/2010	Sun	Dream	1-0	05:39	1-1	1.000	0-0	0.000	2-2	1.000	0	1	1/0.5	0	0-0	1	2	0	4/2.0
05/28/2010	Dream	Mercury	1-0	03:47	0-3	0.000	0-1	0.000	0-0	0.000	0	0	0/0.3	1	0-0	0	1	0	0/1.3
05/30/2010	Dream	Sparks	1-0	01:32	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.3	0	0-0	0	0	0	0/1.0
06/01/2010	Dream	Storm	1-0	05:15	1-2	0.500	0-1	0.000	2-2	1.000	0	0	0/0.2	0	1-0	0	0	0	4/1.6
06/04/2010	Sky	Dream	1-0	04:22	2-3	0.667	1-1	1.000	0-0	0.000	1	2	3/0.7	0	1-0	0	1	0	5/2.2
06/11/2010	Dream	Liberty	1-0	08:18	2-5	0.400	0-1	0.000	0-0	0.000	0	0	0/0.6	0	1-0	1	0	0	4/2.4
06/19/2010	Dream	Fever	1-0	02:10	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.5	0	1-0	0	0	0	0/2.1
06/23/2010	Shock	Dream	1-0	03:59	0-2	0.000	0-0	0.000	0-2	0.000	0	0	0/0.4	1	0-0	0	1	0	0/1.9
06/27/2010	Sparks	Dream	1-0	02:49	1-2	0.500	0-1	0.000	0-0	0.000	1	0	1/0.5	1	1-0	0	0	0	2/1.9
07/01/2010	Lynx	Dream	1-0	05:45	1-1	1.000	0-0	0.000	0-0	0.000	0	0	0/0.5	1	2-0	0	0	0	2/1.9
07/03/2010	Sky	Dream	1-0	02:41	0-2	0.000	0-1	0.000	0-0	0.000	0	1	1/0.5	0	1-0	0	0	0	0/1.8
07/07/2010	Sun	Dream	1-0	02:48	0-2	0.000	0-1	0.000	0-0	0.000	0	0	0/0.5	0	0-0	0	0	0	0/1.6
07/14/2010	Dream	Lynx	1-0	07:54	0-5	0.000	0-2	0.000	0-0	0.000	0	0	0/0.4	0	2-0	0	0	0	0/1.5
07/16/2010	Dream	Fever	1-0	01:17	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.4	0	0-0	0	0	0	0/1.4
07/17/2010	Dream	Sun	1-0	09:26	1-3	0.333	0-1	0.000	0-0	0.000	0	1	1/0.4	0	0-0	0	0	0	2/1.4
07/21/2010	Dream	Mystics	1-0	00:47	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.4	0	0-0	0	0	0	0/1.4
07/25/2010	Liberty	Dream	1-0	02:43	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.4	1	0-0	0	0	0	0/1.3
07/27/2010	Dream	Shock	1-0	10:46	2-7	0.286	1-2	0.500	0-0	0.000	1	1	2/0.5	3	4-0	0	3	0	5/1.5
07/30/2010	Dream	Sun	1-0	15:23	6-8	0.750	0-1	0.000	0-0	0.000	0	0	0/0.5	1	3-0	0	2	0	12/2.0
08/01/2010	Fever	Dream	1-0	04:33	2-2	1.000	0-0	0.000	0-0	0.000	0	0	0/0.4	0	1-0	0	0	0	4/2.1
08/03/2010	Mystics	Dream	1-0	09:22	1-4	0.250	0-2	0.000	0-0	0.000	0	1	1/0.5	0	0-0	0	1	0	2/2.1
08/10/2010	Storm	Dream	1-0	10:28	2-3	0.667	0-0	0.000	2-2	1.000	0	1	1/0.5	1	0-0	0	1	0	6/2.3
08/13/2010	Liberty	Dream	1-0	09:57	2-9	0.222	0-5	0.000	0-0	0.000	0	0	0/0.5	1	2-0	0	1	0	4/2.3
08/14/2010	Dream	Sky	1-0	20:23	2-7	0.286	1-2	0.500	0-0	0.000	0	0	0/0.4	6	2-0	1	2	0	5/2.4
08/17/2010	Sky	Dream	1-0	18:56	4-5	0.800	0-1	0.000	2-2	1.000	0	0	0/0.4	4	2-0	1	2	0	10/2.7
08/22/2010	Mystics	Dream	1-0	21:49	4-9	0.444	2-3	0.667	4-4	1.000	3	1	4/0.6	1	4-0	0	3	0	14/3.1
Player Total			27-0	197:45	34-85	0.400	5-26	0.192	12-14	0.857	6	9	15/0.6	22	28-0	5	20	0	85/3.1



WNBA TRANSACTIONS: Selected by Charlotte in first round (second overall) of the WNBA Draft, April 20, 2001...Traded by Charlotte along with a first-round pick in the 2004 WNBA Draft to Indiana for a first-round pick and a second-round pick in the 2004 WNBA Draft, February 4, 2004...Traded by Indiana to Phoenix for Anna DeForge, April 3, 2006...Re-signed by Phoenix to a multi-year deal on February 15, 2007...Traded to Minnesota along with forward LaToya Pringle in exchange for Nicole Ohlde...Signed by the Dream on March 17, 2010.

PERSONAL: She majored in biology at Georgia...she and her twin sister, Coco, led Mayo High School in Rochester, Minn., to a perfect 27-0 record and the Minnesota state 4A championship as seniors...daughter of Marv and Kathy Miller.

2009 WNBA SEASON: Started in 25 of the Minnesota Lynx 34 games ... Averaged 19 minutes, 4.4 points, and 2.0 assists per game... Scored a season high in points (18) vs. Sacramento on August 28, 2009.

2008 WNBA SEASON: Finished her eight season in the WNBA (third with Phoenix) by again startingall 34 games, the fourth time in five years she's accomplished that feat... Contributed 8.3 ppg while shooting 40.8% from the field, 38.5% from three-point range and 84.5% from the line... Ranked 11th in the WNBA in assists (4.0 apg) and second among point guards in rebounding (4.4 rpg); she led the Mercury in assists on 17 occasions, and on the boards three times... Notched a dozen double-figure scoring nights, with a season-high 20 points (playing a season-high 35:01) Sept. 3 vs. Minnesota... She also sank a career-best eight free throws and surpassed the 2000-career-point plateau in that contest... Enjoyed a six-game July run in which she averaged 12.3 ppg and 5.0 rpg while hitting 47.7%... Collected 17 points and a season-high eight assists June 18 vs. Connecticut, and added 11 points, a season-high nine rebounds and six assists Sept. 7 vs. Houston.

2007 WNBA Season:

- Won a WNBA Championship; Started all 34 games for the Mercury in 2007 (one of three Phoenix players to do so)
- Played in every game in a season for the fifth time in seven WNBA seasons
- In her second year with Phoenix, averaged 9.4 points, 4.9 rebound and a team-leading 4.6 assists
- For the second-straight season, averaged a career-high in assists
- Shot a career-high 47.9 percent from the field (11th-WNBA, 2nd among WNBA guards); had never shot above 45 percent in a season entering 2007
- First player other than Diana Taurasi to lead the team in assists since Taurasi was drafted in 2004

	SEASON HIGHS	CAREER HIGHS
Points	10 @ Phoenix 05/28/10	23 vs. Los Angeles 06/01/02
Rebounds	8 vs. Phoenix 06/29/10	12 @ Los Angeles 06/30/06
Assists	8 vs. Phoenix 06/29/10	9 (3 Times)
Steals	4 vs. Indiana 05/16/10	4 (6 Times)
Blocks	1 (2 Times)	2 (2 Times)
Minutes	28 vs. Phoenix 06/29/10	52 @ Houston 08/10/06

2010 SEAS(NC
GAMES	30
STARTS	1
MINUTES	16.4
FG %	0.290
3 PT FG %	0.329
FT %	.880
REBOUNDS	1.9
ASSISTS	2.6
STEALS	0.8
BLOCKS	0.1
TURNOVERS	1.23
POINTS	3.6

#2 Kelly Miller 2010 Regular Season Game-by-Game Statistics

							3-POINT				RF	ЕВО	UNDS						
DATE	VISITOR	HOME	GP-GS	Min	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF DI	EF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
05/15/2010	Dream	Silver Stars	1-0	06:26	0-0	0.000	0-0	0.000	0-0	0.000	0	2	2/2.0	1	1-0	0	3	0	0/0.0
05/16/2010	Fever	Dream	1-0	25:19	1-6	0.167	1-4	0.250	4-4	1.000	0	0	0/1.0	6	3-0	4	2	0	7/3.5
05/21/2010	Sun	Dream	1-0	17:50	1-2	0.500	0-1	0.000	0-0	0.000	0	1	1/1.0	5	3-0	0	0	0	2/3.0
05/23/2010	Dream	Liberty	1-0	12:38	1-2	0.500	1-1	1.000	0-0	0.000	0	0	0/0.8	0	0-0	0	2	0	3/3.0
05/28/2010	Dream	Mercury	1-0	17:21	3-7	0.429	2-4	0.500	2-2	1.000	1	2	3/1.2	2	3-0	1	0	0	10/4.4
05/30/2010	Dream	Sparks	1-0	17:11	2-4	0.500	1-2	0.500	1-1	1.000	0	1	1/1.2	2	3-0	1	0	0	6/4.7
06/01/2010	Dream	Storm	1-0	25:01	3-7	0.429	3-6	0.500	0-0	0.000	1	2	3/1.4	2	1-0	0	2	0	9/5.3
06/04/2010	Sky	Dream	1-0	15:31	2-5	0.400	2-4	0.500	2-2	1.000	0	0	0/1.3	2	1-0	0	3	0	8/5.6
06/05/2010	Dream	Mystics	1-0	20:16	1-3	0.333	1-2	0.500	0-0	0.000	0	2	2/1.3	6	0-0	2	3	0	3/5.3
06/11/2010	Dream	Liberty	1-0	25:29	0-4	0.000	0-2	0.000	0-0	0.000	1	2	3/1.5	6	0-0	1	1	0	0/4.8
06/13/2010	Silver Stars	Dream	1-0	05:02	0-1	0.000	0-0	0.000	0-0	0.000	0	1	1/1.5	2	0-0	0	0	0	0/4.4
06/15/2010	Dream	Sky	1-0	10:32	0-1	0.000	0-1	0.000	0-0	0.000	0	0	0/1.3	0	1-0	0	1	0	0/4.0
06/19/2010	Dream	Fever	1-0	03:59	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/1.2	1	1-0	0	0	0	0/3.7
06/23/2010	Shock	Dream	1-0	24:23	3-6	0.500	2-4	0.500	1-2	0.500	0	5	5/1.5	3	1-0	1	1	1	9/4.1
06/27/2010	Sparks	Dream	1-0	18:34	1-6	0.167	0-4	0.000	0-0	0.000	1	0	1/1.5	0	3-0	0	1	0	2/3.9
06/29/2010	Mercury	Dream	1-0	27:32	2-6	0.333	2-4	0.500	3-3	1.000	2	6	8/1.9	8	1-0	2	4	1	9/4.3
07/01/2010	Lynx	Dream	1-0	16:32	1-3	0.333	0-2	0.000	0-0	0.000	0	3	3/1.9	4	1-0	0	1	0	2/4.1
07/03/2010	Sky	Dream	1-0	17:50	1-5	0.200	1-3	0.333	3-4	0.750	3	2	5/2.1	3	4-0	2	2	0	6/4.2
07/07/2010	Sun	Dream	1-0	06:54	0-2	0.000	0-1	0.000	0-0	0.000	1	0	1/2.1	1	0-0	0	0	0	0/4.0
07/14/2010	Dream	Lynx	1-0	08:01	0-2	0.000	0-2	0.000	0-0	0.000	1	2	3/2.1	1	2-0	0	0	0	0/3.8
07/16/2010	Dream	Fever	1-0	15:01	1-3	0.333	0-0	0.000	1-1	1.000	0	0	0/2.0	0	1-0	3	2	0	3/3.8
07/17/2010	Dream	Sun	1-0	21:23	2-7	0.286	2-6	0.333	2-2	1.000	0	1	1/2.0	2	3-0	0	1	0	8/4.0
07/21/2010	Dream	Mystics	1-1	22:50	1-6	0.167	0-3	0.000	0-0	0.000	0	3	3/2.0	2	1-0	2	0	0	2/3.9
07/25/2010	Liberty	Dream	1-0	15:35	0-2	0.000	0-1	0.000	1-2	0.500	0	0	0/1.9	1	0-0	0	2	0	1/3.8
07/27/2010	Dream	Shock	1-0	12:56	1-3	0.333	1-3	0.333	0-0	0.000	0	0	0/1.8	5	5-0	0	2	0	3/3.7
07/30/2010	Dream	Sun	1-0	23:21	2-4	0.500	2-2	1.000	0-0	0.000	0	3	3/1.9	5	1-0	2	0	0	6/3.8
08/01/2010	Fever	Dream	1-0	17:50	1-4	0.250	1-2	0.500	2-2	1.000	1	3	4/2.0	3	4-0	1	2	0	5/3.9
08/03/2010	Mystics	Dream	1-0	16:44	0-3	0.000	0-3	0.000	0-0	0.000	0	0	0/1.9	3	0-0	0	0	0	0/3.7
08/06/2010	Dream	Fever	1-0	10:08	0-1	0.000	0-1	0.000	0-0	0.000	0	1	1/1.9	2	2-0	1	1	0	0/3.6
08/10/2010	Storm	Dream	1-0	15:05	1-2	0.500	1-2	0.500	0-0	0.000	0	2	2/1.9	1	3-0	0	1	0	3/3.6
Player Total			30-1	493:14	31-107	0.290	23-70	0.329	22-25	0.880	12	44	56/1.9	79	49-0	23	37	2	107/3.6

CAREER PLAYOFF AVERAGES

Year	Team	G	GS	MPG	FG%	3P%	FT%	OFF	DEF	RPG	APG	SPG	BPG	ТО	PF	PPG
2001	СНА	2	0	4.0	0.000	0.000	0.000	0.0	0.0	0.0	0.0	0.0	0.0	0.00	0.00	0.0
2002	СНА	2	0	6.5	0.500	1.000	0.000	0.0	1.0	1.0	0.0	0.0	0.0	0.50	1.50	2.5
2003	СНА	2	0	11.5	0.400	0.000	0.000	0.0	0.5	0.5	1.0	0.0	0.0	0.50	1.00	4.0
2005	IND	4	4	38.8	0.308	0.529	0.700	0.0	1.8	1.8	2.5	1.2	0.0	1.25	3.30	10.0
2007	PHO	9	9	33.0	0.455	0.308	0.818	2.1	3.2	5.3	3.6	1.3	0.1	2.00	2.00	11.7
Career		19	13	26.1	0.402	0.391	0.756	1.0	2.1	3.1	2.3	0.9	0.1	1.32	1.90	8.3



WNBA TRANSACTIONS: Drafted by Sky with third pick in 2007 WNBADraft... Traded to the Atlanta Dream on August 12, 2009.

2009 WNBA SEASON: Joined the Dream in a trade with the Chicago Sky (Tamera Young) on August 12, 2009 ... Played in 11 games, averaged 1.5 points and 1.5 rebounds per game.

2008 WNBA SEASON: In her second season in the WNBA she appeared in all 34 games and started in 11... Averaged 6.9 points, 3.7 rebounds, and was ranked 20th in the WNBA in offensive rebounds with 57...She set two career highs with 9 field goals and 22 points shooting a perfect 4 for 4 from the line in the 5/22 game against the Sacramento Monarchs.

2007 WNBA SEASON: Price had 34 starts out of 34 games played...averaged 7.9 pts, 2.9 assists and 6.0 rebounds per game...Named 2007 WNBA Rookie of the Year...finished 4th among rookies in both scoring and assists...Price set season highs in the 6/12 game vs. Seattle, with 17 pts, 9 FT made, 13 rebounds, and 9 defensive boards... Ranked 20th in the WNBA in assists per game (3.0)...Ranked 15th in the league and leads all the rookies in rebounds per game (6.0)

COLLEGE: Helped lead Ole Miss to their first Elite Eight appearance since 1992... In her final game against Tennessee, Price scored 30 points.... Averaged 19.1 points per game, which ranked second in the SEC and 32nd in the NCAA... Her 3.7 steals per game ranked first in the NCAA and SEC... Ranked fourth in assists in the SEC with 4.7 per game... Price was the only SEC player to rank in the top five inscoring ,rebounding, assists and steals, and she joined Cheryl Miller as the only two players in NCAA history to record over 2,000 points, 1,000 rebounds, 400 assists and 400 steals... Named a 2007 Kodak/WBCA All-American... Selected to the ESPN.com All-American Team... Named 2007 Defensive Player of the Year becoming the first player in the history of the league to win the award two times... As a junior she was named the 2006 WBCA/Kodak All-American Honorable Mention after earning All-Region 3 honors... As a sophomore she earned All-SEC Second Team honors and 2005 SEC Defensive Player of the Year.

	SEASON HIGHS	CAREER HIGHS
Points	14 vs. Indiana 05/16/10	22 vs. Sacramento 05/22/08
Rebounds	9 @ Connecticut 07/17/10	13 vs. Seattle 06/12/07
Assists	6 (2Times)	8 @ New York 05/20/07
Steals	4 vs. Chicago 06/04/10	5 @ Los Angeles 07/01/07
Blocks	1 (2 Times)	2 (2 Times)
Minutes	27 vs. Phoenix 06/29/10	38 (2 Times)

2010 SE	EASON
GAMES	34
STARTS	0
MINUTES	16.5
FG %	0.387
3 PT FG %	.000
FT %	0.594
REBOUNDS	3.0
ASSISTS	1.8
STEALS	0.9
BLOCKS	0.1
TURNOVERS	1.06
POINTS	4.9

CAREER PLAYOFF AVERAGES

Year	Team	G	GS	MPG	FG%	3P%	FT%	OFF	DEF	RPG	APG	SPG	BPG	ТО	PF	PPG
2009	ATL	2	0	15.5	0.333	0.000	0.571	1.5	1.5	3.0	2.0	2.0	0.0	1.00	1.00	5.0
Career		2	0	15.5	0.333	0.000	0.571	1.5	1.5	3.0	2.0	2.0	0.0	1.00	1.00	5.0

#22 Armintie Price 2010 Regular Season Game-by-Game Statistics

				-0			3-POINT					REBO	UNDS						
DATE	VISITOR	НОМЕ	GP-GS	Min	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
05/15/2010	Dream	Silver	1-0	18:18	2-3	0.667	0-0	0.000	0-0	0.000	1	1	2/2.0	1	0-0	0	1	0	4/4.0
		Stars									•						-		
05/16/2010	Fever	Dream	1-0	23:10	5-14	0.357	0-1	0.000	4-5	0.800	3	1	4/3.0	0	3-0	1	0	0	14/9.0
05/21/2010	Sun	Dream	1-0	08:42	2-2	1.000	0-0	0.000	1-1	1.000	1	0	1/2.3	0	1-0	0	0	0	5/7.7
05/23/2010	Dream	Liberty	1-0	18:50	3-5	0.600	0-0	0.000	2-2	1.000	0	0	0/1.8	0	1-0	3	2	0	8/7.8
05/28/2010	Dream	Mercury	1-0	17:46	0-3	0.000	0-0	0.000	1-2	0.500	1	3	4/2.2	4	2-0	1	0	0	1/6.4
05/30/2010	Dream	Sparks	1-0	15:01	1-3	0.333	0-0	0.000	0-0	0.000	1	0	1/2.0	2	0-0	2	1	1	2/5.7
06/01/2010	Dream	Storm	1-0	13:21	1-4	0.250	0-0	0.000	2-3	0.667	1	1	2/2.0	1	2-0	0	0	0	4/5.4
06/04/2010	Sky	Dream	1-0	17:55	1-1	1.000	0-0	0.000	2-7	0.286	0	5	5/2.4	1	1-0	4	2	0	4/5.3
06/05/2010	Dream	Mystics	1-0	13:57	1-6	0.167	0-0	0.000	0-3	0.000	2	1	3/2.4	1	1-0	2	0	0	2/4.9
06/11/2010	Dream	Liberty	1-0	16:18	2-4	0.500	0-0	0.000	0-0	0.000	1	4	5/2.7	1	5-0	1	2	0	4/4.8
06/13/2010	Silver Stars	Dream	1-0	11:33	0-0	0.000	0-0	0.000	0-0	0.000	0	2	2/2.6	2	1-0	0	1	0	0/4.4
06/15/2010	Dream	Sky	1-0	10:21	3-3	1.000	0-0	0.000	2-2	1.000	0	0	0/2.4	0	0-0	0	0	0	8/4.7
06/19/2010	Dream	Fever	1-0	22:08	1-4	0.250	0-0	0.000	1-2	0.500	0	0	0/2.2	3	3-0	0	2	1	3/4.5
06/23/2010	Shock	Dream	1-0	12:29	2-6	0.333	0-0	0.000	0-0	0.000	1	1	2/2.2	0	2-0	0	0	0	4/4.5
06/27/2010	Sparks	Dream	1-0	18:50	2-5	0.400	0-0	0.000	4-6	0.667	2	3	5/2.4	4	3-0	2	1	0	8/4.7
06/29/2010	Mercury	Dream	1-0	27:24	4-8	0.500	0-0	0.000	5-6	0.833	3	2	5/2.6	6	2-0	1	1	0	13/5.3
07/01/2010	Lynx	Dream	1-0	08:46	0-0	0.000	0-0	0.000	3-6	0.500	0	1	1/2.5	1	0-0	0	3	0	3/5.1
07/03/2010	Sky	Dream	1-0	17:57	1-3	0.333	0-0	0.000	2-2	1.000	1	2	3/2.5	0	0-0	1	0	0	4/5.1
07/07/2010	Sun	Dream	1-0	15:34	0-1	0.000	0-0	0.000	2-2	1.000	0	3	3/2.5	2	0-0	1	1	0	2/4.9
07/14/2010	Dream	Lynx	1-0	19:53	2-4	0.500	0-0	0.000	2-4	0.500	0	6	6/2.7	3	1-0	1	2	0	6/5.0
07/16/2010	Dream	Fever	1-0	22:33	0-6	0.000	0-1	0.000	2-4	0.500	3	1	4/2.8	1	3-0	1	3	0	2/4.8
07/17/2010	Dream	Sun	1-0	24:42	2-7	0.286	0-0	0.000	1-2	0.500	5	4	9/3.0	5	2-0	2	1	0	5/4.8
07/21/2010	Dream	Mystics	1-0	23:44	3-4	0.750	0-1	0.000	1-4	0.250	2	4	6/3.2	1	5-0	1	4	0	7/4.9
07/25/2010	Liberty	Dream	1-0	21:45	1-4	0.250	0-0	0.000	0-2	0.000	2	3	5/3.3	5	3-0	1	0	0	2/4.8
07/27/2010	Dream	Shock	1-0	17:11	3-3	1.000	0-0	0.000	2-4	0.500	1	1	2/3.2	0	1-0	0	1	0	8/4.9
07/30/2010	Dream	Sun	1-0	15:49	2-4	0.500	0-0	0.000	1-2	0.500	2	4	6/3.3	5	3-0	1	2	0	5/4.9
08/01/2010	Fever	Dream	1-0	13:12	1-1	1.000	0-0	0.000	1-2	0.500	0	1	1/3.2	1	1-0	0	1	0	3/4.9
08/03/2010	Mystics	Dream	1-0	16:46	1-7	0.143	0-0	0.000	2-2	1.000	2	2	4/3.3	1	1-0	0	1	0	4/4.8
08/06/2010	Dream	Fever	1-0	03:03	0-2	0.000	0-1	0.000	0-0	0.000	0	0	0/3.1	0	1-0	0	0	0	0/4.7
08/10/2010	Storm	Dream	1-0	10:44	0-0	0.000	0-0	0.000	2-2	1.000	0	0	0/3.0	0	1-0	0	0	0	2/4.6
08/13/2010	Liberty	Dream	1-0	11:58	1-2	0.500	0-0	0.000	2-2	1.000	2	1	3/3.0	3	0-0	1	1	0	4/4.5
08/14/2010	Dream	Sky	1-0	20:20	2-4	0.500	0-0	0.000	6-8	0.750	1	1	2/3.0	6	1-0	2	2	0	10/4.7
08/17/2010	Sky	Dream	1-0	15:21	2-7	0.286	0-0	0.000	2-4	0.500	1	2	3/3.0	2	0-0	1	1	0	6/4.8
08/22/2010	Mystics	Dream	1-0	15:44	2-7	0.286	0-0	0.000	5-10	0.500	3	0	3/3.0	0	1-0	0	0	0	9/4.9
Player Total	•		34-0	561:05	53-137	0.387	0-4	0.000	60-101	0.594	42	60	102/3.0	62	51-0	30	36	2	166/4.9



Endowed Presidential Scholarship.

WNBA TRANSACTIONS: Drafted by the Atlanta Dream in the third round (33rd overall) in 2010 WNBA Draft

PERSONAL: Full name is Brittainey She Von Raven ... born August 1, 1988 in Albuquerque, N.M ... daughter of Thaddeus and Rona Raven... has one sister, Tiffany (17)...Rona played basketball at New Mexico State University...corporate communications major ... 2006-07 recipient of UT Women's Athletics Mary Camille "Kamie" Ethridge

COLLEGE: 2010 Second-team All-Big 12 selection ... led the Longhorns with 11 points (4-of-10 FG, 1-of-4 3FG, 2-of-2 FT) vs. Missouri (March 11) in the first round of the Big 12 Championship ... also pulled down six rebounds for her most since seven at Kansas (Feb. 13) ... shared team-lead in scoring with 18 points (5-of-14 FG, 1-of-3 3FG, 7-of-7 FT) at No. 14/15 Baylor (March 7) ... tallied team-high 13 points (5-of-12 FG, 1-of-5 3FG, 2-of-4 FT) against Missouri (March 3) ... recorded 20 points (5-of-14 FG, 4-of-9 3FG, 6-of-6 FT) at No. 23/21 Oklahoma State (Feb. 24) ... was perfect from the free throw line for the fourth time this seasonled the Longhorns with 17 points (6-of-14 FG, 2-of-7 3FG, 3-of-4 FT) at No. 15/15 Texas A&M (Feb. 20) ... posted 10 points (3-of-13 FG, 1-of-2 3FG, 3-of-4 FT) and team-high seven rebounds at Kansas (Feb. 13) ... recorded 10 points (4-of-10 FG, 1-of-4 3FG, 1-of-1FT) at Colorado (Feb. 10) ... tallied 22 points (7-of-14 FG, 4of-8 3FG, 4-of-5 FT) against Texas Tech (Feb. 7) ... knocked down career-high tying four from 3-point range and scored 20 or more points for the fourth time this season ... recorded 17 points (5-of-10 FG, 2-of-4 3FG, 5-of-6 FT) at No. 13/13 Oklahoma (Feb. 3) ... posted 12 points (4-of-10 FG, 0-of-2 3FG, 4-of-6 FT) against No. 14/16 Baylor (Jan. 31) ... also pulled down six boards ... co-led the team in scoring with 18 points (3-of-17 FG, 2-of- 8 3FG, 10-of-14 FT) against No. RV/21 Iowa State (Jan. 23) ... also pulled down team-high seven rebounds ... scored 10 points (3-of-6 FG, 4-of-5 FT) against No. 12/17 Oklahoma State (Jan. 20) for her 17th double-digit scoring effort of the season ... also pulled down team-high six rebounds ... tallied second-straight 20+ scoring effort with 20 points (8-of-16 FG, 1-of-3 3FG, 3-of-3 FT) in UT's double overtime win at Texas Tech (Jan. 16) ... also pulled down seven rebounds and added three assists.

	SEASON HIGHS	CAREER HIGHS
Points	8 @ Chicago 08/14/10	8 @ Chicago 08/14/10
Rebounds	5 vs. Indiana 05/16/10	5 vs. Indiana 05/16/10
Assists	2 (2 Times)	2 (2 Times)
Steals	2 @ Chicago 08/14/10	2 @ Chicago 08/14/10
Blocks	1 @ Chicago 08/14/10	1 @ Chicago 08/14/10
Minutes	18 @ Chicago 08/14/10	18 @ Chicago 08/14/10

2212.051.0	
2010 SEASO	JN
GAMES	23
STARTS	0
MINUTES	5.4
FG %	0.244
3 PT FG %	0.278
FT %	0.875
REBOUNDS	0.9
ASSISTS	0.4
STEALS	0.2
BLOCKS	0.0
TURNOVERS	0.39
POINTS	1.5

#0 Brittainey Raven 2010 Regular Season Game-by-Game Statistics

							3-POINT					-REBO	UNDS						
DATE	VISITOR	HOME	GP-GS	Min	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
05/16/2010	Fever	Dream	1-0	13:45	0-4	0.000	0-2	0.000	0-0	0.000	4	1	5/5.0	2	2-0	0	0	0	0/0.0
05/21/2010	Sun	Dream	1-0	01:53	0-2	0.000	0-0	0.000	0-0	0.000	1	0	1/3.0	0	0-0	0	0	0	0/0.0
05/23/2010	Dream	Liberty	1-0	14:05	1-5	0.200	1-2	0.500	0-0	0.000	1	1	2/2.7	1	2-0	1	1	0	3/1.0
05/30/2010	Dream	Sparks	1-0	01:32	0-2	0.000	0-1	0.000	0-0	0.000	0	0	0/2.0	1	0-0	0	0	0	0/0.8
06/01/2010	Dream	Storm	1-0	08:19	2-3	0.667	1-1	1.000	1-2	0.500	1	0	1/1.8	0	3-0	0	0	0	6/1.8
06/04/2010	Sky	Dream	1-0	03:34	0-1	0.000	0-1	0.000	0-0	0.000	0	2	2/1.8	1	0-0	0	0	0	0/1.5
06/05/2010	Dream	Mystics	1-0	01:33	0-1	0.000	0-0	0.000	0-0	0.000	0	0	0/1.6	0	0-0	0	1	0	0/1.3
06/11/2010	Dream	Liberty	1-0	02:30	0-1	0.000	0-0	0.000	0-0	0.000	0	0	0/1.4	0	0-0	0	0	0	0/1.1
06/19/2010	Dream	Fever	1-0	06:54	1-2	0.500	0-1	0.000	0-0	0.000	0	0	0/1.2	0	0-0	1	1	0	2/1.2
07/01/2010	Lynx	Dream	1-0	04:57	0-1	0.000	0-0	0.000	0-0	0.000	0	1	1/1.2	1	1-0	0	1	0	0/1.1
07/07/2010	Sun	Dream	1-0	04:31	0-2	0.000	0-1	0.000	0-0	0.000	0	0	0/1.1	0	0-0	1	0	0	0/1.0
07/14/2010	Dream	Lynx	1-0	03:18	0-2	0.000	0-2	0.000	0-0	0.000	0	0	0/1.0	0	0-0	0	0	0	0/0.9
07/16/2010	Dream	Fever	1-0	01:17	0-1	0.000	0-0	0.000	2-2	1.000	0	0	0/0.9	0	0-0	0	0	0	2/1.0
07/17/2010	Dream	Sun	1-0	00:42	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.9	0	0-0	0	0	0	0/0.9
07/25/2010	Liberty	Dream	1-0	00:07	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.8	0	0-0	0	0	0	0/0.9
07/27/2010	Dream	Shock	1-0	04:57	1-2	0.500	0-1	0.000	0-0	0.000	1	0	1/0.8	1	0-0	0	0	0	2/0.9
07/30/2010	Dream	Sun	1-0	05:10	1-1	1.000	0-0	0.000	0-0	0.000	2	0	2/0.9	0	0-0	0	1	0	2/1.0
08/01/2010	Fever	Dream	1-0	03:37	0-2	0.000	0-0	0.000	0-0	0.000	1	0	1/0.9	0	1-0	0	0	0	0/0.9
08/06/2010	Dream	Fever	1-0	01:43	0-0	0.000	0-0	0.000	0-0	0.000	0	1	1/0.9	0	1-0	0	2	0	0/0.9
08/13/2010	Liberty	Dream	1-0	03:15	0-0	0.000	0-0	0.000	2-2	1.000	0	0	0/0.9	0	0-0	0	1	0	2/1.0
08/14/2010	Dream	Sky	1-0	17:50	2-5	0.400	2-3	0.667	2-2	1.000	0	2	2/0.9	1	1-0	2	0	1	8/1.3
08/17/2010	Sky	Dream	1-0	13:26	3-5	0.600	1-1	1.000	0-0	0.000	1	1	2/1.0	2	0-0	0	1	0	7/1.5
08/22/2010	Mystics	Dream	1-0	05:46	0-3	0.000	0-2	0.000	0-0	0.000	0	0	0/0.9	0	1-0	0	0	0	0/1.5
Player Total			23-0	124:41	11-45	0.244	5-18	0.278	7-8	0.875	12	9	21/0.9	10	12-0	5	9	1	34/1.5

2009 Dream Playoff Series vs. Detroit Shock

Game 1
Dream at Detroit Shock 09/16/09

													_					
						3-POINT					-REBO	UNDS						
NO	PLAYER	GP-GS	MIN	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
8	Castro Marques, I	1-1	29:09	7-15	0.467	3-7	0.429	8-11	0.727	1	2	3/3.0	7	2-0	0	3	0	25/25.0
35	McCoughtry, A	1-1	32:59	8-13	0.615	1-1	1.000	4-5	0.800	0	8	8/8.0	4	3-0	1	6	0	21/21.0
14	de Souza, E	1-1	25:04	5-7	0.714	0-0	0.000	3-4	0.750	3	4	7/7.0	1	5-0	3	2	1	13/13.0
20	Lyttle, S	1-1	33:48	5-12	0.417	0-1	0.000	1-2	0.500	2	7	9/9.0	2	5-0	2	3	0	11/11.0
2	Snow, M	1-0	16:04	3-6	0.500	0-0	0.000	1-1	1.000	2	1	3/3.0	0	1-0	0	2	1	7/7.0
12	Latta, I	1-1	38:09	0-5	0.000	0-2	0.000	6-6	1.000	0	1	1/1.0	2	3-0	1	0	0	6/6.0
1	Holdsclaw, C	1-0	12:41	1-4	0.250	0-1	0.000	1-1	1.000	2	1	3/3.0	0	2-0	0	3	0	3/3.0
9	Miller, C	1-0	02:30	1-1	1.000	1-1	1.000	0-0	0.000	0	0	0/0.0	0	0-0	0	0	0	3/3.0
21	Lacy, J	1-0	05:04	0-1	0.000	0-1	0.000	0-0	0.000	0	0	0/0.0	0	0-0	0	0	0	0/0.0
22	Price, A	1-0	04:32	0-2	0.000	0-0	0.000	0-0	0.000	0	0	0/0.0	1	0-0	1	0	0	0/0.0
5	Lehning, S	0-0	00:00	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.0	0	0-0	0	0	0	0/0.0
Team												9				0		
Atlan	ta Dream	1-5	200:00	30-66	0.455	5-14	0.357	24-30	0.800	10	24	43/43.0	17	21-0	8	19	2	89/89.0
Team	1											14				0		
OPPO	ONENTS	1-5	200:00	37-79	0.468	8-14	0.571	12-14	0.857	7	22	43/43.0	21	27-0	7	11	1	94/94.0

			 SINC	GLE G	AME H	IGHS				 AVER	AGE I	PER GA	ME -				AVEF	RAGE P	ER 48	MIN	
NO	PLAYER	MIN	REB	AST	STL	то	BLK	PTS	MIN	REB	AST	STL	то	BLK	PTS	REB	AST	STL	то	BLK	PTS
8	Castro Marques, I	29:09	3	7	0	3	0	25	29:09	3.0	7.0	0.0	3.0	0.0	25.0	4.1	9.6	0.0	4.1	0.0	34.3
35	McCoughtry, A	32:59	8	4	1	6	0	21	32:59	8.0	4.0	1.0	6.0	0.0	21.0	9.7	4.9	1.2	7.3	0.0	25.5
14	de Souza, E	25:04	7	1	3	2	1	13	25:04	7.0	1.0	3.0	2.0	1.0	13.0	11.2	1.6	4.8	3.2	1.6	20.7
20	Lyttle, S	33:48	9	2	2	3	0	11	33:48	9.0	2.0	2.0	3.0	0.0	11.0	10.7	2.4	2.4	3.6	0.0	13.0
2	Snow, M	16:04	3	0	0	2	1	7	16:04	3.0	0.0	0.0	2.0	1.0	7.0	7.5	0.0	0.0	5.0	2.5	17.4
12	Latta, I	38:09	1	2	1	0	0	6	38:09	1.0	2.0	1.0	0.0	0.0	6.0	1.0	2.1	1.0	0.0	0.0	6.3
1	Holdsclaw, C	12:41	3	0	0	3	0	3	12:41	3.0	0.0	0.0	3.0	0.0	3.0	9.5	0.0	0.0	9.5	0.0	9.5
9	Miller, C	02:30	0	0	0	0	0	3	02:30	0.0	0.0	0.0	0.0	0.0	3.0	0.0	0.0	0.0	0.0	0.0	48.0
21	Lacy, J	05:04	0	0	0	0	0	0	05:04	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0
22	Price, A	04:32	0	1	1	0	0	0	04:32	0.0	1.0	1.0	0.0	0.0	0.0	0.0	8.8	8.8	0.0	0.0	0.0
5	Lehning, S	00:00	0	0	0	0	0	0	00:00	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0

Game 2
Dream at Detroit Shock 09/18/09

						3-POINT					-REBO	UNDS						
NO	PLAYER	GP-GS	MIN	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
12	Latta, I	1-1	36:31	8-15	0.533	3-7	0.429	2-3	0.667	2	1	3/3.0	3	2-0	0	3	0	21/21.0
35	McCoughtry, A	1-1	24:55	7-18	0.389	3-6	0.500	0-1	0.000	1	2	3/3.0	2	4-0	1	6	0	17/17.0
14	de Souza, E	1-1	29:10	5-11	0.455	0-0	0.000	0-0	0.000	2	5	7/7.0	1	5-0	1	8	1	10/10.0
22	Price, A	1-0	26:15	3-7	0.429	0-0	0.000	4-7	0.571	3	3	6/6.0	3	2-0	3	2	0	10/10.0
8	Castro Marques, I	1-1	21:32	1-1	1.000	1-1	1.000	4-6	0.667	0	0	0/0.0	2	3-0	0	1	0	7/7.0
20	Lyttle, S	1-1	16:43	2-5	0.400	0-0	0.000	2-5	0.400	1	0	1/1.0	2	3-0	2	1	0	6/6.0
9	Miller, C	1-0	10:47	2-4	0.500	0-0	0.000	0-0	0.000	0	0	0/0.0	2	0-0	0	1	0	4/4.0
21	Lacy, J	1-0	17:38	0-4	0.000	0-1	0.000	2-4	0.500	1	1	2/2.0	0	3-0	0	0	0	2/2.0
2	Snow, M	1-0	16:29	0-4	0.000	0-0	0.000	2-4	0.500	1	4	5/5.0	1	2-0	0	0	1	2/2.0
1	Holdsclaw, C	0-0	00:00	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.0	0	0-0	0	0	0	0/0.0
5	Lehning, S	0-0	00:00	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.0	0	0-0	0	0	0	0/0.0
Tean	1											16				1		
Atlar	nta Dream	1-5	200:00	28-69	0.406	7-15	0.467	16-30	0.533	11	16	43/43.0	16	24-0	7	23	2	79/79.0
Tean	1											9				1		
OPP	ONENTS	1-5	200:00	35-65	0.538	2-12	0.167	22-27	0.815	10	28	47/47.0	25	29-0	10	23	5	94/94.0

			 SIN	GLE GA	AME H	IGHS				 AVEI	RAGE P	ER GA	ме				AVE	RAGE F	ER 48	MIN	
NO	PLAYER	MIN	REB	AST	STL	то	BLK	PTS	MIN	REB	AST	STL	то	BLK	PTS	REB	AST	STL	то	BLK	PTS
12	Latta, I	36:31	3	3	0	3	0	21	36:31	3.0	3.0	0.0	3.0	0.0	21.0	3.3	3.3	0.0	3.3	0.0	23.0
35	McCoughtry, A	24:55	3	2	1	6	0	17	24:55	3.0	2.0	1.0	6.0	0.0	17.0	4.8	3.2	1.6	9.6	0.0	27.3
14	de Souza, E	29:10	7	1	1	8	1	10	29:10	7.0	1.0	1.0	8.0	1.0	10.0	9.6	1.4	1.4	11.0	1.4	13.7
22	Price, A	26:15	6	3	3	2	0	10	26:15	6.0	3.0	3.0	2.0	0.0	10.0	9.1	4.6	4.6	3.0	0.0	15.2
8	Castro Marques, I	21:32	0	2	0	1	0	7	21:32	0.0	2.0	0.0	1.0	0.0	7.0	0.0	3.7	0.0	1.9	0.0	13.0
20	Lyttle, S	16:43	1	2	2	1	0	6	16:43	1.0	2.0	2.0	1.0	0.0	6.0	2.4	4.8	4.8	2.4	0.0	14.4
9	Miller, C	10:47	0	2	0	1	0	4	10:47	0.0	2.0	0.0	1.0	0.0	4.0	0.0	7.4	0.0	3.7	0.0	14.8
21	Lacy, J	17:38	2	0	0	0	0	2	17:38	2.0	0.0	0.0	0.0	0.0	2.0	4.5	0.0	0.0	0.0	0.0	4.5
2	Snow, M	16:29	5	1	0	0	1	2	16:29	5.0	1.0	0.0	0.0	1.0	2.0	12.1	2.4	0.0	0.0	2.4	4.9
1	Holdsclaw, C	00:00	0	0	0	0	0	0	00:00	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0
5	Lehning, S	00:00	0	0	0	0	0	0	00:00	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0

2010 DREAM REGULAR SEASON STATISTICS Record (W-L): 19-15 Home(10-7) Away(9-8)

						3-POINT					REBO	UNDS						
NO	PLAYER	GP-GS	MIN	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
35	McCoughtry, A	34-34	1044:23	246-603	0.408	33-126	0.262	191-238	0.803	63	104	167/4.9	105	107-1	66	108	21	716/21.1
8	Castro Marques, I	34-34	984:25	220-496	0.444	46-156	0.295	89-135	0.659	14	45	59/1.7	89	73-1	28	95	2	575/16.9
20	Lyttle, S	32-31	929:42	162-335	0.484	0-0	0.000	87-120	0.725	102	214	316/9.9	70	96-1	55	63	20	411/12.8
14	de Souza, E	34-34	872:25	190-333	0.571	0-0	0.000	41-75	0.547	96	187	283/8.3	30	109-0	27	62	40	421/12.4
22	Price, A	34-0	561:05	53-137	0.387	0-4	0.000	60-101	0.594	42	60	102/3.0	62	51-0	30	36	2	166/4.9
11	Leuchanka, Y	32-0	338:37	50-105	0.476	1-5	0.200	32-43	0.744	29	54	83/2.6	12	55-0	16	46	8	133/4.2
33	Bales, A	34-3	528:54	42-97	0.433	5-12	0.417	43-54	0.796	32	96	128/3.8	28	61-0	24	23	39	132/3.9
5	Lehning, S	33-33	775:00	48-106	0.453	13-36	0.361	14-30	0.467	28	61	89/2.7	159	68-1	25	61	6	123/3.7
2	Miller, K	30-1	493:14	31-107	0.290	23-70	0.329	22-25	0.880	12	44	56/1.9	79	49-0	23	37	2	107/3.6
9	Miller, C	27-0	197:45	34-85	0.400	5-26	0.192	12-14	0.857	6	9	15/0.6	22	28-0	5	20	0	85/3.1
0	Raven, B	23-0	124:41	11-45	0.244	5-18	0.278	7-8	0.875	12	9	21/0.9	10	12-0	5	9	1	34/1.5
1	Holdsclaw, C	0-0	00:00	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.0	0	0-0	0	0	0	0/0.0
Tear	n											337				9		
Atla	nta Dream	34-170	6850:00	1087-2449	0.444	131-453	0.289	598-843	0.709	436	883	1656/48.7	666	709-4	304	569	141	2903/85.4
Tear	n											314				27		
OPP	ONENTS	34-170	6850:00	1019-2345	0.435	163-509	0.320	625-823	0.759	328	833	1475/43.4	630	720-3	323	578	146	2826/83.1

			S	SING	LE GA	AME I	HIGH	IS			A	AVER.	AGE 1	PER G	AMI	E				- AVER	RAGE F	ER 48	8 MIN -	
NO	PLAYER	MIN	R	REB	AST	STL	то	BLK	PTS	MIN		REB	AST	STL	то	BLK	PTS	F	EB	AST	STL	то	BLK	PTS
35	McCoughtry, A	37:27		10	7	5	7	3	32	30:43		4.9	3.1	1.9	3.2	0.6	21.1		6.4	4.0	2.5	4.1	0.8	27.4
8	Castro Marques, I	41:26		4	8	4	7	2	32	28:57		1.7	2.6	0.8	2.8	0.1	16.9		2.4	3.6	1.1	3.9	0.1	23.4
20	Lyttle, S	43:08		20	7	5	5	2	27	29:03		9.9	2.2	1.7	2.0	0.6	12.8		13.6	3.0	2.4	2.7	0.9	17.7
14	de Souza, E	34:14		20	3	3	6	5	23	25:39		8.3	0.9	0.8	1.8	1.2	12.4		13.0	1.4	1.2	2.8	1.8	19.3
22	Price, A	27:24		9	6	4	4	1	14	16:30		3.0	1.8	0.9	1.1	0.1	4.9		7.3	4.4	2.1	2.6	0.1	11.8
11	Leuchanka, Y	25:23		11	2	3	4	1	13	10:34		2.6	0.4	0.5	1.4	0.3	4.2		9.8	1.4	1.9	5.4	0.9	15.7
33	Bales, A	39:43		12	6	3	3	6	12	15:33		3.8	0.8	0.7	0.7	1.1	3.9		9.7	2.1	1.8	1.7	2.9	10.0
5	Lehning, S	38:06		7	10	3	4	1	10	23:29		2.7	4.8	0.8	1.8	0.2	3.7		4.6	8.2	1.3	3.1	0.3	6.3
2	Miller, K	27:32		8	8	4	4	1	10	16:26		1.9	2.6	0.8	1.2	0.1	3.6		4.5	6.4	1.9	3.0	0.2	8.7
9	Miller, C	21:49		4	6	1	3	0	14	07:19		0.6	0.8	0.2	0.7	0.0	3.1		3.0	4.5	1.0	4.0	0.0	17.2
0	Raven, B	17:50		5	2	2	2	1	8	05:25		0.9	0.4	0.2	0.4	0.0	1.5		6.7	3.2	1.6	2.9	0.3	10.9
1	Holdsclaw, C	00:00		0	0	0	0	0	0	00:00		0.0	0.0	0.0	0.0	0.0	0.0		0.0	0.0	0.0	0.0	0.0	0.0

2010 EASTERN CONFERENCE SEASON SERIES BREAKDOWNS





VS. WASHINGTON MYSTICS | RECORD (1-3) | HOME (0-2) | AWAY (1-1)

						3-POINT					REBO	UNDS						
NO	PLAYER	GP-GS	MIN	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
35	McCoughtry, A	4-4	133:14	29-67	0.433	5-13	0.385	32-36	0.889	8	5	13/3.3	6	17-0	12	10	0	95/23.8
8	Castro Marques, I	4-4	133:11	21-57	0.368	4-18	0.222	13-17	0.765	1	7	8/2.0	16	9-0	6	13	0	59/14.8
20	Lyttle, S	4-4	137:50	20-44	0.455	0-0	0.000	9-15	0.600	14	31	45/11.3	11	16-1	8	7	2	49/12.3
14	de Souza, E	4-4	103:30	22-40	0.550	0-0	0.000	4-8	0.500	13	14	27/6.8	3	11-0	2	9	3	48/12.0
22	Price, A	4-0	70:11	7-24	0.292	0-1	0.000	8-19	0.421	9	7	16/4.0	3	8-0	3	5	0	22/5.5
9	Miller, C	3-0	31:58	5-13	0.385	2-5	0.400	4-4	1.000	3	2	5/1.7	1	4-0	0	4	0	16/5.3
33	Bales, A	4-0	55:37	4-9	0.444	0-0	0.000	5-5	1.000	1	10	11/2.8	2	5-0	0	2	4	13/3.3
5	Lehning, S	3-3	69:03	2-8	0.250	1-4	0.250	1-4	0.250	3	8	11/3.7	15	11-1	1	7	1	6/2.0
2	Miller, K	3-1	59:50	2-12	0.167	1-8	0.125	0-0	0.000	0	5	5/1.7	11	1-0	4	3	0	5/1.7
11	Leuchanka, Y	4-0	23:17	1-3	0.333	0-0	0.000	2-3	0.667	1	3	4/1.0	1	7-0	1	7	0	4/1.0
0	Raven, B	2-0	07:19	0-4	0.000	0-2	0.000	0-0	0.000	0	0	0/0.0	0	1-0	0	1	0	0/0.0
Tear	n											45				0		
Atla	nta Dream	4-20	825:00	113-281	0.402	13-51	0.255	78-111	0.703	53	92	190/47.5	69	90-2	37	68	10	317/79.3
Tear	n															6		
OPP	ONENTS	4-20	825:00	122-278	0.439	13-53	0.245	80-112	0.714	54	105	199/49.8	74	97-2	43	69	9	337/84.3

			SII	IGLE G	AME H	IGHS				/	AVER	AGE 1	PER GA	AME				AVE	RAGE F	PER 48 I	MIN	
NO	PLAYER	MIN	REB	AST	STL	то	BLK	PTS	MIN	1	REB	AST	STL	то	BLK	PTS	REB	AST	STL	то	BLK	PTS
35	McCoughtry, A	36:02	(5 2	5	3	0	30	33:18		3.3	1.5	3.0	2.5	0.0	23.8	3.	1.8	3.6	3.0	0.0	28.5
8	Castro Marques, I	41:26	4	6	2	6	0	19	33:17		2.0	4.0	1.5	3.3	0.0	14.8	2.	4.8	1.8	3.9	0.0	17.7
20	Lyttle, S	43:08	17	6	3	5	2	17	34:27		11.3	2.8	2.0	1.8	0.5	12.3	13.	3.2	2.3	2.0	0.6	14.2
14	de Souza, E	32:51	11	. 2	1	4	2	23	25:52		6.8	0.8	0.5	2.3	0.8	12.0	10.	1.2	0.8	3.5	1.2	18.6
22	Price, A	23:44	(5 1	2	4	0	9	17:32		4.0	0.8	0.8	1.3	0.0	5.5	9.	1.7	1.7	2.8	0.0	12.5
9	Miller, C	21:49	4	1	0	3	0	14	10:39		1.7	0.3	0.0	1.3	0.0	5.3	6.3	1.3	0.0	5.0	0.0	20.0
33	Bales, A	22:22	(5 2	0	1	3	6	13:54		2.8	0.5	0.0	0.5	1.0	3.3	7.9	1.4	0.0	1.4	2.9	9.3
5	Lehning, S	24:44	4	6	1	4	1	3	23:01		3.7	5.0	0.3	2.3	0.3	2.0	6.	8.7	0.6	4.1	0.6	3.5
2	Miller, K	22:50	3	6	2	3	0	3	19:56		1.7	3.7	1.3	1.0	0.0	1.7	3.	7.4	2.7	2.0	0.0	3.3
11	Leuchanka, Y	08:44	3	1	1	4	0	3	05:49		1.0	0.3	0.3	1.8	0.0	1.0	6.	1.7	1.7	12.0	0.0	6.9
0	Raven, B	05:46	(0	0	1	0	0	03:39		0.0	0.0	0.0	0.5	0.0	0.0	0.0	0.0	0.0	5.5	0.0	0.0



VS. NEW YORK LIBERTY | RECORD (2-2) | HOME (1-1) | AWAY (1-1)

						3-POINT					REBO	UNDS						
NO	PLAYER	GP-GS	MIN	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
35	McCoughtry, A	4-4	114:03	29-63	0.460	4-10	0.400	21-27	0.778	7	13	20/5.0	19	13-0	5	12	3	83/20.8
14	de Souza, E	4-4	122:30	32-51	0.627	0-0	0.000	7-14	0.500	11	30	41/10.3	3	13-0	2	8	6	71/17.8
8	Castro Marques, I	4-4	120:43	24-52	0.462	4-12	0.333	12-15	0.800	1	2	3/0.8	6	7-0	1	8	0	64/16.0
20	Lyttle, S	4-4	108:32	17-40	0.425	0-0	0.000	5-11	0.455	13	28	41/10.3	10	15-0	7	10	0	39/9.8
22	Price, A	4-0	68:51	7-15	0.467	0-0	0.000	4-6	0.667	5	8	13/3.3	9	9-0	6	5	0	18/4.5
5	Lehning, S	4-4	96:21	7-14	0.500	1-3	0.333	2-4	0.500	4	8	12/3.0	15	6-0	1	5	2	17/4.3
33	Bales, A	4-0	45:21	2-7	0.286	1-3	0.333	6-10	0.600	1	11	12/3.0	4	6-0	1	2	4	11/2.8
9	Miller, C	3-0	20:58	4-14	0.286	0-6	0.000	0-0	0.000	0	0	0/0.0	2	3-0	1	1	0	8/2.7
11	Leuchanka, Y	4-0	29:05	4-6	0.667	0-0	0.000	2-4	0.500	0	2	2/0.5	1	5-0	0	3	1	10/2.5
2	Miller, K	3-0	53:42	1-8	0.125	1-4	0.250	1-2	0.500	1	2	3/1.0	7	0-0	1	5	0	4/1.3
0	Raven, B	4-0	19:57	1-6	0.167	1-2	0.500	2-2	1.000	1	1	2/0.5	1	2-0	1	2	0	5/1.3
Tean	n											34				0		
Atla	nta Dream	4-20	800:00	128-276	0.464	12-40	0.300	62-95	0.653	44	105	183/45.8	77	79-0	26	61	16	330/82.5
Tean	n											29				4		
OPP	ONENTS	4-20	800:00	120-254	0.472	26-58	0.448	67-78	0.859	17	97	143/35.8	82	88-0	24	66	14	333/83.3

			 SING	GLE G	AME H	IIGHS				 AVER	AGE I	PER G	AME					AVEI	RAGE P	ER 48	MIN	
NO	PLAYER	MIN	REB	AST	STL	то	BLK	PTS	MIN	REB	AST	STL	то	BLK	PTS	R	EB	AST	STL	то	BLK	PTS
35	McCoughtry, A	37:17	10	6	3	6	1	28	28:30	5.0	4.8	1.3	3.0	0.8	20.8		7.0	6.7	1.8	4.2	1.1	29.1
14	de Souza, E	34:12	11	2	1	3	3	21	30:37	10.3	0.8	0.5	2.0	1.5	17.8		3.4	1.0	0.7	2.6	2.0	23.2
8	Castro Marques, I	33:27	2	3	1	3	0	21	30:10	0.8	1.5	0.3	2.0	0.0	16.0		1.0	2.0	0.3	2.7	0.0	21.2
20	Lyttle, S	33:21	14	5	3	3	0	15	27:08	10.3	2.5	1.8	2.5	0.0	9.8		5.1	3.7	2.6	3.7	0.0	14.4
22	Price, A	21:45	5	5	3	2	0	8	17:12	3.3	2.3	1.5	1.3	0.0	4.5		7.6	5.2	3.5	2.9	0.0	10.5
5	Lehning, S	30:03	4	8	1	3	1	7	24:05	3.0	3.8	0.3	1.3	0.5	4.3		5.0	6.2	0.4	2.1	0.8	7.1
33	Bales, A	27:01	10	2	1	2	3	9	11:20	3.0	1.0	0.3	0.5	1.0	2.8		0.6	3.5	0.9	1.8	3.5	9.7
9	Miller, C	09:57	0	1	1	1	0	4	06:59	0.0	0.7	0.3	0.3	0.0	2.7		0.0	3.8	1.9	1.9	0.0	15.3
11	Leuchanka, Y	11:39	2	1	0	1	1	4	07:16	0.5	0.3	0.0	0.8	0.3	2.5		2.8	1.4	0.0	4.1	1.4	13.8
2	Miller, K	25:29	3	6	1	2	0	3	17:54	1.0	2.3	0.3	1.7	0.0	1.3		2.2	5.2	0.7	3.7	0.0	3.0
0	Raven, B	14:05	2	1	1	1	0	3	04:59	0.5	0.3	0.3	0.5	0.0	1.3		4.0	2.0	2.0	4.0	0.0	10.0



VS. INDIANA FEVER | RECORD (2-3) | HOME (2-0) | AWAY (0-3)

						3-POINT					REBO	UNDS						
NO	PLAYER	GP-GS	MIN	FGM-FGA	FG%	FGM-FGA	FG%	FTM-FTA	FT%	OFF	DEF	TOT/AVG	AST	PF-DQ	STL	то	BLK	PTS/AVG
35	McCoughtry, A	5-5	150:54	31-67	0.463	5-18	0.278	43-53	0.811	6	11	17/3.4	20	16-0	6	19	3	110/22.0
8	Castro Marques, I	5-5	140:40	31-73	0.425	7-30	0.233	12-19	0.632	2	6	8/1.6	7	12-0	4	14	0	81/16.2
20	Lyttle, S	5-4	148:55	21-45	0.467	0-0	0.000	18-21	0.857	14	33	47/9.4	10	14-0	11	13	3	60/12.0
14	de Souza, E	5-5	128:18	29-42	0.690	0-0	0.000	1-2	0.500	11	15	26/5.2	2	17-0	9	10	11	59/11.8
33	Bales, A	5-1	80:47	8-13	0.615	2-2	1.000	5-7	0.714	4	14	18/3.6	4	10-0	7	6	7	23/4.6
22	Price, A	5-0	84:06	7-27	0.259	0-3	0.000	8-13	0.615	6	3	9/1.8	5	11-0	2	6	1	22/4.4
5	Lehning, S	5-5	116:57	8-15	0.533	1-4	0.250	1-2	0.500	4	9	13/2.6	20	7-0	4	11	2	18/3.6
11	Leuchanka, Y	4-0	41:52	5-10	0.500	0-0	0.000	4-5	0.800	3	9	12/3.0	1	9-0	1	4	0	14/3.5
2	Miller, K	5-0	72:17	3-14	0.214	2-7	0.286	7-7	1.000	1	4	5/1.0	12	11-0	9	7	0	15/3.0
9	Miller, C	3-0	08:00	2-2	1.000	0-0	0.000	0-0	0.000	0	0	0/0.0	0	2-0	0	0	0	4/1.3
0	Raven, B	5-0	27:16	1-9	0.111	0-3	0.000	2-2	1.000	5	2	7/1.4	2	4-0	1	3	0	4/0.8
1	Holdsclaw, C	0-0	00:00	0-0	0.000	0-0	0.000	0-0	0.000	0	0	0/0.0	0	0-0	0	0	0	0/0.0
Tear	n											45				6		
Atla	nta Dream	5-25	1000:00	146-317	0.461	17-67	0.254	101-131	0.771	56	106	207/41.4	83	113-0	54	99	27	410/82.0
Tear	n											37				8		
OPP	ONENTS	5-25	1000:00	147-339	0.434	26-81	0.321	94-116	0.810	65	106	208/41.6	90	108-0	61	92	16	414/82.8

				- SING	GLE GA	АМЕ Н	IGHS				/	AVER	AGE I	PER G	AME				А	ERA	AGE PI	ER 48	MIN	
NO	PLAYER	MIN	F	REB	AST	STL	то	BLK	PTS	MIN]	REB	AST	STL	то	BLK	PTS	RE	AS	T :	STL	то	BLK	PTS
35	McCoughtry, A	37:27		5	7	3	7	2	31	30:10		3.4	4.0	1.2	3.8	0.6	22.0	2	.5	5.3	1.6	5.0	0.8	29.2
8	Castro Marques, I	37:47		4	3	3	7	0	28	28:08		1.6	1.4	0.8	2.8	0.0	16.2	2	.3	2.0	1.1	4.0	0.0	23.0
20	Lyttle, S	36:52		20	3	4	4	2	20	29:47		9.4	2.0	2.2	2.6	0.6	12.0	12	.6	2.7	3.0	3.5	0.8	16.1
14	de Souza, E	28:47		11	2	3	6	3	16	25:39		5.2	0.4	1.8	2.0	2.2	11.8	8	.1).6	2.8	3.1	3.4	18.4
33	Bales, A	25:22		7	1	3	2	6	8	16:09		3.6	0.8	1.4	1.2	1.4	4.6	8	.9	2.0	3.5	3.0	3.5	11.4
22	Price, A	23:10		4	3	1	3	1	14	16:49		1.8	1.0	0.4	1.2	0.2	4.4	4	.3	2.4	1.0	2.9	0.5	10.5
5	Lehning, S	29:52		3	7	2	4	1	6	23:23		2.6	4.0	0.8	2.2	0.4	3.6	4	.4	5.8	1.4	3.8	0.7	6.2
11	Leuchanka, Y	16:59		7	1	1	2	0	8	10:28		3.0	0.3	0.3	1.0	0.0	3.5	11	.5	1.0	1.0	3.8	0.0	13.4
2	Miller, K	25:19		4	6	4	2	0	7	14:27		1.0	2.4	1.8	1.4	0.0	3.0	2	.8	5.6	5.0	3.9	0.0	8.3
9	Miller, C	04:33		0	0	0	0	0	4	02:40		0.0	0.0	0.0	0.0	0.0	1.3	(.0	0.0	0.0	0.0	0.0	20.0
0	Raven, B	13:45		5	2	1	2	0	2	05:27		1.4	0.4	0.2	0.6	0.0	0.8	10	.3	2.9	1.5	4.4	0.0	5.9
1	Holdsclaw, C	00:00		0	0	0	0	0	0	00:00		0.0	0.0	0.0	0.0	0.0	0.0	(.0	0.0	0.0	0.0	0.0	0.0

2010 INDIVIDUAL SEASON HIGHS

υream	Points	
32	Iziane Castro Marques	.vs. Connecticut(OT), 7/7/10
	Angel McCoughtry	
	Angel McCoughtry	
	Angel McCoughtry	
	Minutes	
	Sancho Lyttle	at Washington(OT), 6/5/10
	Iziane Castro Marques	
	Alison Balesv	9 , ,, ,
	Field Goals Made	5. com/cedeat(01), 1/1/10
13		vs Connecticut(OT) 7/7/10
	Angel McCoughtry	
	Sancho Lyttle	
	Field Goals Attempted	.vs. connecticat, 3/21/10
	Angel McCoughtry	at Phoonix 5/29/10
27		
	Angel McCoughtry	
	3-Point Field Goals Made	at connecticut, 7/17/10
		us Los Angeles 6/27/10
	Iziane Castro Marques	
	Iziane Castro Marques	
	7 times(Angel McCoughtry	at Connecticut, 7/30/10)
	3-Point Field Goals Attempted	
	Iziane Castro-Marques	
	Angel McCoughtry	
	Iziane Castro Marques	.vs. Connecticut(OT), 7/7/10
	Free Throws Made	
	Angel McCoughtry	
	Angel McCoughtry	
12	Angel McCoughtry	vs. Washington, 8/3/10
	Free Throws Attempted	
18	Iziane Castro Marques	
17	Angel McCoughtry	at Indiana, 7/16/10
16	Angel McCoughtry	at Indiana, 8/6/10
Dream	Rebounds	
20	Erika de Souza	at Minnesota, 7/14/10
20	Sancho Lyttle	at Indiana, 6/19/10
17	4 times(Sancho Lyttle	vs. Seattle, 8/10/10)
Dream	Assists	
10	Shalee Lehning	vs. Connecticut, 5/21/10
9	Shalee Lehning	at Chicago, 6/15/10
	5 times(Shalee Lehning	
Dream	•	
5	Angel McCoughtry	vs. Washington. 8/3/10
5	Sancho Lyttle	9
5	Angel McCoughtry	
	Turnovers	
7		at Indiana 7/16/10
7	Angel McCoughtry	
7		
	Blocked Shots	
		vs Indiana F/16/10
	Alison Bales	
	Erika de Souza	
5 3	10 times(Erika de Souza	- L L - 1'- 0/0/40'

Opponents Points 33 Candace Parker. at Los Angeles, 5/30/10 32 Lauren Jackson. at Seattle, 6/1/10 31 Cappie Pondexter. vs. New York, 8/13/10 31 Penny Taylor. vs. Phoenix, 6/29/10 Opponents Minutes 40:32 Lindsey Harding. at Washington(OT), 6/5/10 40:00 Penny Taylor. vs. Phoenix, 6/29/10 39:19 Crystal Langhorne. at Washington(OT), 6/5/10 Opponents Field Goals Made 12 Penny Taylor. vs. Phoenix, 6/29/10 12 Candace Parker. at Los Angeles, 5/30/10 11 Cappie Pondexter. at New York, 6/11/10 Opponents Field Goals Attempted 22 Diana Taurasi. at Phoenix, 5/28/10 21 Cappie Pondexter. at New York, 6/11/10 21 Cappie Pondexter. at New York, 5/23/10 Opponents 3-Point Field Goals Made 5 Lauren Jackson. at Seattle, 6/1/10 5 Tina Thompson. at Los Angeles, 5/30/10 4 times(Cappie Pondexter. vs. New York, 7/25/10) Opponents 3-Point Field Goals Attempted 9 Edwige Lawson-Wade. vs. San Antonio, 6/13/10 8 Epiphanny Prince. at Chicago, 8/14/10 Opponents Free Throws Made
32 Lauren Jackson
31 Cappie Pondexter
Nenny Taylor
Opponents Minutes 40:32 Lindsey Harding
40:32 Lindsey Harding
40:00 Penny Taylor
39:19 Crystal Langhorne
Opponents Field Goals Made 12 Penny Taylor
12 Penny Taylor
12 Candace Parker
11 Cappie Pondexter
Opponents Field Goals Attempted 22 Diana Taurasi
22 Diana Taurasi
21 Cappie Pondexter at New York, 6/11/10 21 Cappie Pondexter at New York, 5/23/10 Opponents 3-Point Field Goals Made 5 Lauren Jackson at Seattle, 6/1/10 5 Tina Thompson at Los Angeles, 5/30/10 4 4 times(Cappie Pondexter vs. New York, 7/25/10) Opponents 3-Point Field Goals Attempted 9 Edwige Lawson-Wade vs. San Antonio, 6/13/10 8 Epiphanny Prince at Chicago, 8/14/10 8 Cappie Pondexter vs. New York, 7/25/10 8 Lauren Jackson at Seattle, 6/1/10 Opponents Free Throws Made 13 Cappie Pondexter vs. New York, 8/13/10 10 Tamika Catchings at Phoenix, 5/28/10 10 Sylvia Fowles at Chicago, 6/15/10 10 Penny Taylor at Phoenix, 5/28/10 11 Penny Taylor at Phoenix, 5/28/10 12 Tina Charles vs. Connecticut(OT), 7/7/10 15 Crystal Langhorne at Washington, 7/21/10 14 Sylvia Fowles vs. Chicago, 8/17/10 14 Tina Charles vs. Chicago, 8/17/10 15 Temeka Johnson vs. Phoenix, 6/29/10
21 Cappie Pondexter
Opponents 3-Point Field Goals Made 5 Lauren Jackson
5 Lauren Jackson
5 Tina Thompson
4 4 times(Cappie Pondextervs. New York, 7/25/10) Opponents 3-Point Field Goals Attempted 9 Edwige Lawson-Wade
Opponents 3-Point Field Goals Attempted 9 Edwige Lawson-Wade
9 Edwige Lawson-Wade
8 Epiphanny Prince at Chicago, 8/14/10 8 Cappie Pondexter vs. New York, 7/25/10 8 Lauren Jackson at Seattle, 6/1/10 Opponents Free Throws Made 13 Cappie Pondexter vs. New York, 8/13/10 10 Tamika Catchings at Phoenix, 5/28/10 10 Sylvia Fowles at Chicago, 6/15/10 10 Penny Taylor at Phoenix, 5/28/10 Opponents Free Throws Attempted 13 Cappie Pondexter vs. New York, 8/13/10 13 Diana Taurasi at Phoenix, 5/28/10 11 8 times(Dominique Canty at Chicago, 8/14/10) Opponents Rebounds 20 Tina Charles vs. Connecticut(OT), 7/7/10 15 Crystal Langhorne at Washington, 7/21/10 14 Sylvia Fowles vs. Chicago, 8/17/10 14 Tina Charles at Connecticut, 7/17/10 Opponents Assists 12 Temeka Johnson
8 Cappie Pondexter
8 Lauren Jackson
Opponents Free Throws Made 13 Cappie Pondexter
13 Cappie Pondexter
12 Diana Taurasi
10 Tamika Catchings at Indiana, 8/6/10 10 Sylvia Fowles at Chicago, 6/15/10 10 Penny Taylor at Phoenix, 5/28/10 Opponents Free Throws Attempted 13 Cappie Pondexter vs. New York, 8/13/10 13 Diana Taurasi at Phoenix, 5/28/10 11 8 times(Dominique Canty at Chicago, 8/14/10) Opponents Rebounds 20 Tina Charles vs. Connecticut(OT), 7/7/10 15 Crystal Langhorne at Washington, 7/21/10 14 Sylvia Fowles vs. Chicago, 8/17/10 14 Tina Charles at Connecticut, 7/17/10 Opponents Assists 12 Temeka Johnson vs. Phoenix, 6/29/10
10 Sylvia Fowles at Chicago, 6/15/10 10 Penny Taylor at Phoenix, 5/28/10 Opponents Free Throws Attempted 13 Cappie Pondexter vs. New York, 8/13/10 13 Diana Taurasi at Phoenix, 5/28/10 11 8 times(Dominique Canty at Chicago, 8/14/10) Opponents Rebounds 20 Tina Charles vs. Connecticut(OT), 7/7/10 15 Crystal Langhorne at Washington, 7/21/10 14 Sylvia Fowles vs. Chicago, 8/17/10 14 Tina Charles at Connecticut, 7/17/10 Opponents Assists 12 Temeka Johnson vs. Phoenix, 6/29/10
10 Penny Taylor
Opponents Free Throws Attempted 13 Cappie Pondexter
13 Cappie Pondexter
13 Diana Taurasiat Phoenix, 5/28/10 11 8 times(Dominique Cantyat Chicago, 8/14/10) Opponents Rebounds 20 Tina Charlesvs. Connecticut(OT), 7/7/10 15 Crystal Langhorneat Washington, 7/21/10 14 Sylvia Fowlesvs. Chicago, 8/17/10 14 Tina Charlesat Connecticut, 7/17/10 Opponents Assists 12 Temeka Johnsonvs. Phoenix, 6/29/10
11 8 times(Dominique Cantyat Chicago, 8/14/10) Opponents Rebounds 20 Tina Charlesvs. Connecticut(OT), 7/7/10 15 Crystal Langhorneat Washington, 7/21/10 14 Sylvia Fowlesvs. Chicago, 8/17/10 14 Tina Charlesat Connecticut, 7/17/10 Opponents Assists 12 12 Temeka Johnsonvs. Phoenix, 6/29/10
Opponents Rebounds 20 Tina Charlesvs. Connecticut(OT), 7/7/10 15 Crystal Langhorne
20 Tina Charlesvs. Connecticut(OT), 7/7/10 15 Crystal Langhorneat Washington, 7/21/10 14 Sylvia Fowlesvs. Chicago, 8/17/10 14 Tina Charlesat Connecticut, 7/17/10 Opponents Assists 12 Temeka Johnsonvs. Phoenix, 6/29/10
15 Crystal Langhorne
14 Sylvia Fowles
14 Tina Charlesat Connecticut, 7/17/10 Opponents Assists 12 Temeka Johnsonvs. Phoenix, 6/29/10
Opponents Assists 12 Temeka Johnsonvs. Phoenix, 6/29/10
12 Temeka Johnsonvs. Phoenix, 6/29/10
10 Ticha Penicheirovs. Los Angeles, 6/27/10
8 Lindsey Hardingvs. Washington, 8/22/10
8 Kara Lawsonvs. Connecticut(OT), 7/7/10
8 Shameka Christonvs. Chicago, 6/4/10
Opponents Steals
6 Tamika Catchingsat Indiana, 7/16/10
6 Scholanda Robinsonvs. Tulsa, 6/23/10
5 Penny Taylorvs. Phoenix, 6/29/10
Opponents Turnovers
7 Delisha Milton-Jonesvs. Los Angeles, 6/27/10
7 Edwige Lawson-Wadeat San Antonio, 5/15/10
=
6 Scholanda Robinsonat Tulsa, 7/27/10
6 Scholanda Robinsonat Tulsa, 7/27/10 6 Tamika Catchingsat Indiana, 7/16/10
6 Scholanda Robinsonat Tulsa, 7/27/10 6 Tamika Catchingsat Indiana, 7/16/10 6 Dominique Cantyat Chicago, 6/15/10
6 Scholanda Robinsonat Tulsa, 7/27/10 6 Tamika Catchingsat Indiana, 7/16/10 6 Dominique Cantyat Chicago, 6/15/10 Opponents Blocked Shots
6 Scholanda Robinsonat Tulsa, 7/27/10 6 Tamika Catchingsat Indiana, 7/16/10 6 Dominique Cantyat Chicago, 6/15/10 Opponents Blocked Shots 6 Michelle Snowvs. San Antonio, 6/13/10
6 Scholanda Robinsonat Tulsa, 7/27/10 6 Tamika Catchingsat Indiana, 7/16/10 6 Dominique Cantyat Chicago, 6/15/10 Opponents Blocked Shots 6 Michelle Snowvs. San Antonio, 6/13/10 6 Candace Parkerat Los Angeles, 5/30/10
6 Scholanda Robinsonat Tulsa, 7/27/10 6 Tamika Catchingsat Indiana, 7/16/10 6 Dominique Cantyat Chicago, 6/15/10 Opponents Blocked Shots 6 Michelle Snowvs. San Antonio, 6/13/10

2010 TEAM HIGHS/LOWS

Dream Highs	100 G : (OF) 7/7/10
Points	108 vs. Connecticut(OT), 7/7/10
Scoring Margin	+32 at Connecticut, 7/30/10
Field Goals Made	44 at Los Angeles, 5/30/10
Field Goals Att.	96 at Phoenix, 5/28/10
Field Goal Pct.	56.9 (33-58) at Indiana, 8/6/10
3-Point FGs Made	9 vs. Chicago, 6/4/10
3-Point FGs Att.	19 at Connecticut, 7/30/10
3-Point FG Pct.	60.0 (6-10) at New York, 5/23/10
Free Throws Made	30 vs. Chicago, 7/3/10
Free Throws Att.	39 vs. Chicago, 7/3/10
Free Throw Pct.	94.1 (16-17) vs. Connecticut, 5/21/10
Offensive Rebounds	22 2 times(vs. Seattle, 8/10/10)
Defensive Rebounds	40 vs. Connecticut(OT), 7/7/10
Total Rebounds	51 2 times(vs.Connecticut(OT), 7/7/10)
Assists	vs. Connecticut(OT), 7/7/10
Steals	14 3 times(at Indiana, 7/16/10)
Turnovers	24 at Washington(OT), 6/5/10
Blocked Shots	10 2 times(vs. Tulsa, 6/23/10)
Personal Fouls	28 2 times(vs. Chicago, 7/3/10)

Opponents Highs	100	G (OF) 7/7/10
Points	103	vs. Connecticut(OT), 7/7/10
Scoring Margin	+19	at Indiana, 7/16/10
Field Goals Made	37	vs. Connecticut(OT), 7/7/10
Field Goals Att.	94	vs. Connecticut(OT), 7/7/10
Field Goal Pct.	55.2 (32-5	8) at Seattle, 6/1/10
3-Point FGs Made	9	at New York, 6/11/10
3-Point FGs Att.	23	vs. Seattle, 8/10/10
3-Point FG Pct.	53.8 (7-13	3) at Seattle, 6/1/10
Free Throws Made	35	vs. Chicago, 7/3/10
Free Throws Att.	42	vs. Chicago, 7/3/10
Free Throw Pct.	100.0 (9-9)	vs. San Antonio, 6/13/10
Offensive Rebounds	18	at Washington(OT), 6/5/10
Defensive Rebounds	37	vs. Connecticut(OT), 7/7/10
Total Rebounds	49	vs. Connecticut(OT), 7/7/10
Assists	27	vs. Connecticut(OT), 7/7/10
Steals	16	2 times(vs.Tulsa, 6/23/10)
Turnovers	24	vs. Los Angeles, 6/27/10
Blocked Shots	9 2 tin	nes(vs. San Antonio, 6/13/10)
Personal Fouls	31	vs. Washington, 8/22/10

Dream Lows		
Points	66	vs. Indiana, 5/16/10
Scoring Margin	-19	at Indiana, 7/16/10
Field Goals Made	23	2 times(vs. Seattle, 8/10/10)
Field Goals Att.	56	2 times(at Indiana, 6/19/10)
Field Goal Pct.	29.5	(23-78) vs. Seattle, 8/10/10
3-Point FGs Made	1	2 times(vs. New York, 8/13/10)
3-Point FGs Att.	7	at Indiana, 7/16/10
3-Point FG Pct.	5.6	(1-18) at Minnesota, 7/14/10
Free Throws Made	7	at Connecticut, 7/30/10
Free Throws Att.	10	at Connecticut, 7/30/10
Free Throw Pct.	52.0	(13-25) at San Antonio, 5/15/10
Offensive Rebounds	4	at Indiana, 8/6/10
Defensive Rebounds	14	at Seattle, 6/1/10
Total Rebounds	24	at Indiana, 8/6/10
Assists	9	at Indiana, 7/16/10
Steals	4	vs. San Antonio, 6/13/10
Turnovers	9	at Los Angeles, 5/30/10
Blocked Shots	0	at Connecticut, 7/17/10
Personal Fouls	12	vs. Phoenix, 6/29/10

Opponents Lows		
Points	58	vs. Minnesota, 7/1/10
Scoring Margin	-32	at Connecticut, 7/30/10
Field Goals Made	20	vs. Minnesota, 7/1/10
Field Goals Att.	58	2 times(vs. New York, 8/13/10)
Field Goal Pct.	29.9 (2	20-67) vs. Minnesota, 7/1/10
3-Point FGs Made	0	vs. Minnesota, 7/1/10
3-Point FGs Att.	8	at Connecticut, 7/30/10
3-Point FG Pct.	0.0 (0-12) vs. Minnesota, 7/1/10
Free Throws Made	5	at Connecticut, 7/30/10
Free Throws Att.		8 vs. New York, 7/25/10
Free Throw Pct.	50.0	(8-16) at San Antonio, 5/15/10
Offensive Rebounds	3	vs. New York, 7/25/10
Defensive Rebounds	15	vs. Connecticut, 5/21/10
Total Rebounds	25	2 times(vs. Phoenix, 6/29/10)
Assists	8	vs. Minnesota, 7/1/10
Steals	3	vs. New York, 7/25/10
Turnovers	10	2 times(at Connecticut, 7/17/10)
Blocked Shots	1	2 times(vs. Washington, 8/3/10)
Personal Fouls	14	at Connecticut, 7/30/10

Dream Scoring	High	Low
1st Quarter	35 vs. Conn, 7/7	9 at Sea, 6/1
2nd Quarter	32 at Pho, 5/28	11 at Ind, 8/6
3rd Quarter	33 at Conn, 7/30	13 at Pho, 5/28
4th Quarter	30 vs. Wash, 8/22	8 at Conn, 7/30
1st Half	65 at Pho, 5/28	27 at Sea, 6/1
2nd Half	59 at LA, 5/30	29 vs. Ind, 5/16
1OT	13 vs. Conn, 7/7	11 at Wash, 6/5
2OT	n/a	n/a

Opponent Scoring	High	Low
1st Quarter	30 vs. Pho, 6/29	9 vs. Minn, 7/1
2nd Quarter	29 vs. Wash, 8/22	9 vs.Conn, 5/21
3rd Quarter	29 at NY, 6/11	12 at Conn, 7/30
4th Quarter	31 at Conn, 7/17	4 vs. Ind, 5/16
1st Half	55 at Ind, 6/19	24 vs. Minn, 7/1
2nd Half	57 at Conn, 7/17	24 vs.Ind, 5/16
1OT	8 vs. Conn, 7/7	4 at Wash, 6/5
2OT	n/a	n/a

Miscel	llaneous	Highs
MISCU	uancous	1112119

Attendance 14,347 at Washington, 7/21/10 Duration of Game 2:25 2 times(vs. Wash, 8/22/10)

2010 MISCELLANEOUS STATISTICS

F	${f F}$	C	G	\mathbf{G}	W-L	%
McCoughtry	Lyttle	de Souza	Castro Marques	Lehning	18-12	60.0
McCoughtry	de Souza	Bales	Castro Marques	Lehning	1-2	33.3
McCoughtry	Lyttle	de Souza	Castro Marques	K. Miller	0-1	0.0
	·		•			

2010 Regular Season Individual Record when Starting

Player	Games	W-L	%
Iziane Castro Marques	34	19-15	55.9
Erika DeSouza	34	19-15	55.9
Angel McCoughtry	34	19-15	55.9
Shalee Lehning	33	19-14	57.6
Sancho Lyttle	31	18-13	58.1
Alison Bales	3	1-2	33.3
Kelly Miller	1	0-1	0.0

2010 Situational Team Records

One-point games	0-0
Two-point games	0-2
Three-point games	1-1
Four-point games	1-0
Five- to nine-point games	10-5
10- to 14-point games	0-4
15- to 19-point games	5-3
20-points or more	2-0
Home	10-7
Away	9-8
Overtime	2-0

Dream 2010 Regular Season Record when...

10-2
0-1
9-12
17-9
0-1
2-5
7-2
12-13
1-4
18-11

Making more FTs	10-4
Same number of FTs	1-1
Making less FTs	8-10
Making more 3Ps	8-2
Same number of 3Ps	3-2
Making less 3Ps	8-11
Committing more TOs	9-8
Same number of TOs	1-2
Committing less TOs	9-5

0-0
0-0
1-0
2-8
4-5
9-2
3-0
0-0
1-0
2-0
6-0
7-8
2-7
1-0